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GSE/D-16 701

ENGLISH

Time : Three Hours] [Maximum Marks : 80

Note : Attempt all questions.

1. Transcribe any eight words out of the given twelve :
Trees, Drink, View, Home, Obey, People, Station, Become,
Spin, Grave, Mind, Battle. 8

2. Answer any four questions in about 30 words each :

(a) Discuss the relevance of the title ‘Choosing Our
Universe’.

(b) Write about the positive side of rebelliousness.
(c) How do symbols like ‘Ganga’ influence people ?
(Languange and National Identity)

(d) According to Dr. Kalam, what influence does a story
have on our mind ?

(e) Discuss the difficuities faced by young students.
(The Responsibility of Young Men)

() What were the problems faced by the peasants all over
India ? (Bharat Mata)
(4x2=8)
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3.

Answer any five questions in about 100 words each :

(a) What is the tone of the chapter ‘Chossing Our

Universe’ ?

(b) Suggest some steps that can be taken to preserve

biodiversity.
(¢) What does the word ‘identity’ mean ?
(The Generation Gap)
(d) What is the result of the ‘paralysing effect’ ?
(Wounded Plants)

(e) What relation does the author establish between man

and language ? (Language and National Identity)

() Gandhijt decided to take lessons in various fields to
make himself a perfect English gentleman. What were

these field ?
(g) Discuss the negative aspects of story-telling.
(Great Book Born Out of Great Mind)

(h) Explain the statement : Loyalty to the country comes

ahead of all other loyalties. (5%4=20)

701/53,200/KD/249 2

4.

Read the passage given below and answer the questions
that follow :

Language is the most efficient weapon of self-discovery or
self-analysis. It is that invisible part of the human body,
which gives man an inner sight. The link between language
and self-awareness puts man in a separate and unique
category from all other living beings. This consiousness of
his own incompleteness makes him yearn for
fulfilment.....Thus, the determination to attain it is also
intrinsic or its realisation. No culture is limited only to its
reality, but also reveals itself through its dreams, and that is
why language plays a very significant role in the shaping
of culture.

Questions :
(i) In what way does language help man ?

(i) How does language make man different from other
living things ?

(i) What makes man yearn for fulfilment ?

(iv) What role does language play in the shaping of culture ?
4

(a) Write antonyms of the following (Any two) :
(1) Successful.
(ii) Superior.

(i) Polite.
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(b)

Write synonyms of any mwo of the following :
(i) For off.
(i) Ability.

(iii) Entire.

(¢) Give one-word for the following (Any two) :
(1) An official announcement.
(i) One who knows many languages.
(iii) Not completely dry.
(d) Make sentences of the following words (Any two) :
(i) Knowledge.
(i) Foreign
(i) Complex. (2%4=8)
6. (2) Fillin the blanks with the suitable form of verbs given
in brackets (Any twelve) :
(1) Wenow ............. England. (learn)
(i) You already ........... .... three cups of tea. (drink)
(i) A thief .......... ... Into our house last night.
(break)
(iv) He ................ to see you but you were not at
home. (come)
701/53,200/KD/249 4

v) T, my work by tomorrow evening.
(finish)
(vi) The baby ............. because it is hungry. (cry)
(vil)) Two thieves ............. . from the prison last night.
(escape)
(viii) The sun ................. when you get up. (shine)
(x) T .... for her since noon, but she ............ as
yet. (wait/not come)
(x) The boy ...ccceeeveennenn. down while he .............
(fall/run)
(xi) WhenTI................. the post-office, it ...................
already. (reach/close)
i) Tooevreerennen a letter from my brother.
e.cmﬂ. receive)
(xil)) We .......c........ a Sports Day in our school every
year. (have)
(xiv)India .................. great progress in the coming
years. (make)
(xv) It in the year 2006. (happen)

12
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(b) Do as directed (Any twelve) : )
(E) Choose the right word for the blank space :

(A) Form Abstract nouns from the m?m: adjectives :

(i) This is a nice camera. Is it .............. ?
(i) Cruel. (your/yours)
(i) Brave. : (1) IO room is bigger than .............
(i1i) Great. (My/Mine)(her/hers)
. . (iii) They play chess daily. It is a favourite game
(B) Complete each sentence with a pronoun ending Of (their/theirs)
with -self or -selves : 12
(1) Helookat ..o in the mirror. iy )
7. Write one paragraph (in about 200 words) on any one of
(i) I picked up a very hot plate and burnt ......... the following :
(iii) I'm not angry with you, I'm angry with ......... (a) The Crown and Glory of Life is Character.

1 Nois .
(C) Supply the proper form of the given adjective : (b) Noise Pollution.

(c) Indiscipline and Students.

(i) Herdollis ...ccocceeninnn than yours. (pretty)
. ) ) (d) Science and Modern Warfare. 8
(i) Honouris .......c........ to us than life.  (dear)
(iii) He is the .....oeeeo. man in our town. (rich)

(D) Fill in the blanks with suitable prepositions :

(i) Do you work .......coeenn Sundays ?

(i) The Red Fortis ...c...c....... Delhi.

(iii) My House is ..o the end of the street.
701/53,200/KD/249 6
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GSE/D-16 704
HINDI (Compulsory)

Time : Three Hours] [Maximum Marks : 80
A . fretatan g & fFRger s s
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(%) gt & ¥ femw o, fom @ T faerd
N HD O WE W, W FF Fel 7 TR
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oA W fqemy w%a €, | <@d FeuTE
TTF-FF TR 996 T, TE A & T e
¥o W g Sed @ &, W Bfa §@ T "=
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. W oAy wmEr ° ¥ R ww wfa # afefas oiew

Fifsmy 8

. FE A9 aw v ® SR e 150 v o

e

(F) FAR § gHE GUR FT 3 w1 = F:1

(@) | F1 TG I 2, TFW ST

(M) foErl w1 TR Ao W Eferd feoot fafeu

(°) #R #1959 9EN | TEE I

(T) Mg & fag-ao W = wifem

(F) gt #1 9m Peht W e feoht fafau
(4x4=16)

s B AR A e B TR AR

(F) w1 G ggiaal 1 Sooim w1
(W) T FT7 W W I i)
(M) fEFE w1 aRftafedt w1 FvR Fifew

(%) iR #1 ogH WIU #1 3o S
(8x2=16)

. A e e we # osw 150 v 8 S

(%) YIS T6 &Y W A9 B TR HY

(@) Tl Tl A Vet Wy =)

(M) ‘dremae’ e ) frEm- et st

(%) sufespra #1 dm fauftor w o wdan
(5x2=10)

6.

7.

a9 9 2 o & s i

(F) 9@ F1 T FT GUF HIfSq)

(@) &R ™ F 9ftqm wg e e

(1) Y9 AAFR FT Ui wE IR A

() @ B F WA TE I AW (5x2=10)

asft IS g # IW AN

(F) @R F 0 W fafaw

(@) Uife &0 & o@F ®1 AW 7 27

(M faEd fom oo F=1 s@l wfg on

(%) oM & UHET HT FN AW an?

(%) st i ‘SvauTse’ e Fa

() B= a7 yoR % &1 &7 I fafaw

(D) v=vif ® fFaa 97 22

(F) I W F @ 9 FHE-9 27 8
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8. fr=fafema ol & & fF=l & %1 ST @ 200 V=1 H
e
(%) anfEw F1 wgfoa o= FH
(@) ARCFHS & TFO ®1 FAe F1 foae=q s
(M) Afemitre fomefa g @ IR FwE w1 SRR

faer=m wifeul
(%) AfTFH F1 AHITS-TEFaE 90 F1 FuE Hif)
(2x9=18)

5, fr=fafes axgfr= v & s T .
(%) JedIUS TE w1 U TG FE?
(@) NEFT HT Tg@ AW Hf?
(1) FER G F E F AH F A1
(%) Teur fog feaet &1 f e # AW Fand
(%) '=#=zem’ ¥ 9 T gl 22
(=) ‘FEE’ W TS W A FE-HE
(B) ‘T’ ® ofafed ofw WAl W @ I T
FH-FH G E?
(%) T foe fAeR #el % ISwRaud ® 97 8
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M ;. Tf wm A

[Maximum Marks : 80

gug-ch
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(F) THfa F1 T F W4,
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(%) fava-<es, Jg-9©+, gfe &1 FJa™
Y- | Y Fgd IH H1 A
gf 9 # FHIF 96 THRe [arEd
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2,

3.

4,

THHT ® SR W ‘HHas’ HI gHian Hif)

(3Fera)
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e
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(@) 7& 9% fau gfea & 9 €1 o T7 #19aE ®
T A RN 9 WENE R E S SHEE & e
Y R UE! T T’ A FERN W e &1 S
T o s vieww e
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6.

7.

() F NS ol ¥ o Thedt T # A7 F;M OFE
o F tE E W TR @M T w3 @
30 R IF o o FE 39 W HE I I3

(2x4=8)
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(F) ok gE = &= w17 F1 e San)
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(M) snfgwa F wgE uiferfeal W yEwn efa

(=) = wifediffe™ oras T w fawga faeem Fifsw
8
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GSE/D-16
PUNIJABI (ELECTIVE)

Time : Three Hours] [Maximum Marks : 80

1. 98t Hg fw 7 ugton ofzg o fors S et
fed faf feg @<t 2@ #es 3 gvs T3 W@ feog
250-300 myEt feg Id| 5
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M@.”
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(®) ma few W9z mer et ot
fer =gt oz & go fimm ot
fon et yag ft & vy 3 At ?
0 <t I Fw FgEr =t
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e et sew @ em3
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gfa39-fasgs 93 10

. g%@@é@%ﬂmm:@@n@mﬁm&m@

HEH "9 fims few@z Add Uza/frst fisg

A
373 I3 fou ot 3333 avt foRdmdt 7 omums =t
J oz wsdt & e Rt fw 3 W i fow
fsminst dze © 83 9 Ssdazy fsu 10
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. wﬁ@mmﬂﬂ@%ﬂ@ﬂ&@:&d%ﬁﬁ@%

T feg =a3z -

GRS wast, €8 wolE, W few gmaw wr @

8 09 W93, A5t § I whT, 33 A9 I
(1x10=10)

. wm?mmﬁﬁ@ﬂ&@mmdnwmqmw”

Ud3H| (1x10=10)

. wﬁ@mi&%@ﬂ@m@.mﬁmﬂmﬂ%wﬁg“

Action, Allotment, Application, Arrears, Book-post,
Branch, Capital, Circular, Copy, Day book, Document,
Eligible, Estimate Dear Mr. Entry. 10

. wm@mﬁ%@mmmmﬁqwq%mgmwn

() IeI3 e fam & gusr I 7
® wiow wfzm @
M) q yos fw &
(8 w9 =z @
) st de fhw
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10.

(i) HIs fw fam yag & & I ?

(iv)

™)

uezg ' a3 fed fe3 s sghamlt yrst @ a9

©®) ovfes

(r) wregHeTEt

(8) mHweTEt

(m) Howeet

7 T 99 ez fam By I ?
®) = ofssws fiw <

(v) wEr EEEz
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() Josms fwr avs

HERTH eI T By T I ?
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(€ 3 ggsws fw

() (1x5=5)

feasu fef .
i A I Aw o "y g 3o ?

©) 1896 ¥
() 1897 €t
(®) 1898
(m) 1899
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(i1)

(iii)

(iv)

)

05 &8 € Wfies © Aggr d& "o ?

® &

() faerg

(8) wyAg

(R) w39 iy
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® S

(m) fuzger
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m) fue—dt
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() 3wg =
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(M) waET 3T fhw <
@%@.&
A

A) U B8 € ufgeg & (1x5=5)
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GSE/D-16 708

SANSKRIT (Compulsory)

Time : Three Hours] [Maximum Marks : 80

1, frafafas g+t oo 3 s Sfee .
(F) 'Tygd N TS fF9 97 T ¥ SgE 27
(T) TRF TII0 & A@H HH B2
(M) ‘Tgge’ T ® WA T w1 AW fafegu
(9) ‘v9a=’ # wfaa B €2
(¥) ‘geg’ ¥ FHA- @HR AR 9 9 g &7
(7) ‘waa:’ ¥ wA-T faulm sik o=m &2
(®) 99 & g w1 & T fafgu
(W) ‘Tafe’ FA-T | w1 ST B2 (8x2=16)

2, (%) 5 O va w1 werd S
(1) T s v SO
Tfd: WM e AT
e W fraeg o
R T T IO |
(9) SHAEFAEE TS @
g faavafa wfn amafn =)
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(R) & Tofreaee THwE T
T [EERRS TG 39 WGy

(7) a9 T fadmen qowemegdyg:)
fafem=t fran: wal: W wmia 3am)

(@) 'aEa=’ rgar ‘e’ U %1 §R fafau

3. () v = wend Fifew .
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. FHANGA TR ToSTT a1l (2x5=10)
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(@) frefafas & @ 5 @& U & sufiffs TR o
..Amamm.m@.m”
(31) - @2 o%R, fafufee sar
() W(T=Y)— YL FR, AR AFR

5. (%) fafafas 7 o f&F= wr o wfy stoar gfesse

HIfT

T+ 3w, fomn + oo, 9 4+ ouw, & + e,
gfw:, g<fy:, @rey, T (4x2=8)
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Hifsy (4x2=8)




() 5= u =1 sfy-fa==e $ifw .

.n.m._ﬂﬁu ﬂ_.M.NN
HY: TR
fammeff T
TRIFR: T2l (4x1=4)
(@) ye-19 ¥ I8 U velwl § i fEET S vt W
TEd HIf (2x4=8)
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SANSKRIT (Elective)
Time : Three Hours] [Maximum Marks : 80

1.

frafafes 9t W & W D .

(%) ‘frres’ BFE T @ foqan T @2

(@) ‘'fedm=e’ & e #1 9w fafgw

(M) 9dEgk 3 f&a @R F @M F?

(w) Hfowaw & @@ w1 TW fafau)

(¥) ‘T’ & fra faufs o a= @1 w9 2

(3) ‘e’ W § FH-T GHR 27

(®) ‘T’ B w@s 1 AW fafaw

(W) ‘"fa' = wftaw fafeg (8x2=16)

(®) 5l o =1 = o wend =i .
(1) FFTE TeNd AE: g IR
JEAEOT T U 9 gar g9l
(I) SN HIY : JE, WA wE: ST
AN TEYE TN, AT T HROA) |
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(W) &1 =97 qugen, famrd el ol
q: ¥ w1 g fem:, adfe=ma w e
fefem wuE- T quiEm e
R aR T | T
FHOISTERAVEAF T A
TAE-FAsH ol o qugemeE geE:?

() "7 firdl erasEm gfywast meHER faaed
fremfa, diswe eivegefa’’ T w9
fervas gy T, fervawys T smviED

ygR faeR wan fraafql (2x5=10)
(@) g5-=19 iR AoEI-uRrE Y wen arear My ein
faema =t Feon = ¥r fafan) 6

3. (%) fosl & v @1 weend wifww

(37) 19: GEHUE: qEaENeETd favve:|
THeEgfeRT sEnsfy § W 7 ot

(9) GiegiashefasH: Taney]: T=fEawoEH:|
o A WA SHemreRarEE wE 9w

(9) HgAaHEs g giawHfaq:|
gfer o1 gddiee vEd a9 wa anl

() T A9 et T wata faas
q T QN T TSR T qar st

(2x5=10)
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(@) fordt Tk g+ gy =R i
‘o wem ey A wfa gam’'?

SEE]

‘e T weEEER 6

4. (%) FE Tt & gufe fufma & w9 fafew
TH (g, 99e)|
A (JUH, g |
w1y (e, et
fag (e, feeftem) (2x4=8)

(@) ol a1 uigsdl % gufafie o) § w9 fafau
Y (fafufeg)!

M (T FHR)|

j Aam/ R |
Y (A FR) | (2x4=8)

5. (%) (3 fFE = # wf Fwifvu

famm + aerm: A+ o
M + g + Ay
f&a + o= W+ T
g + T I+ T (4x1=4)
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GSE/D-16 712

HISTORY
[Ancient India (From Earliest Times to Gupta Age)]

Paper-1
Opt. (1)

Three Hours] [Maximum Marks : 80

The question paper consists of nine questions. The
candidate is required to attempt five questions in all. The
Question No. 1 is compulsory containing eight questions
of equal marks (i.e., 2 marks each). The candidate is
required to attempt remaining four questions selecting one
question from each Unit. The Map Question will be
carrying 10 marks for map work and 6 marks for
explanatory note. For visually disabled candidates, the
part relating to the explanatory note will carry full marks.

WA-T9 ® FA A 3w o ¥ whenta w1 we
ufg ¥ FW ¥ WA wEE | e 2 fad e
T ¥ 7 A B o GOR ¥ YEE T F § UH
T T T YW R ww oy I 3 TN
Tl # fau omfes o=t g 9 feooft s
I ® R F g

712/31,400' KD 1016:Map of India [P.T.O.



(e) Which one of the following Harappan site is situated in

®

Haryana?

(i) Kalibangan

(ii) Lothal

(iii) Mitathal

(iv) Ropar

= % 4 wA-w [Ree efamn § fem 22
(1) HrefE

(¥) dua

(|) foaere

(7) 9

Where the Great Buddha delivered his first sermon.
(1) Kushinagar

(i) Gaya

(iii) Sarnath

(iv) Rajgrhaih.

TET g5 4 ST YW IURW %u fEam em?

(37) FIFTR

(3) ™=
(|/) 9y

(3) TRl

712/31,400/KD/1016 4

(g)

(h)

712/31,400/KD/1016 5

,,\ﬁ_o was the greatest ruler of the Satvahana dynasty?
(i) Simuk

(i) Vashisthiputra Pulumavi

(iii) Gautmiputra Satkarni

(iv) Yajshri Satkarni.

YqaEd 99 %1 G99 "EM WEE ®F o917

(3n) fag=

() Tl TamE
(9) TAHg Gl
(%) TA& FaFoil
Gupta-Samvat was started in
(i) 78 AD.

(i) 58 A.D.

(iii) 320 A.D.

(iv) 622 AD.
Ta-He S g
(1) 78 3 ¥

~

(F) 58 %

(9)320 & ®

(®) 622 % H

[P.T.O.



2.

4.

6.

UNIT-I (FE-1)

Define history. Discuss its meaning and scope.
wﬂﬂﬂﬁ%%_ﬂ%ﬁ%%ﬁ%
Fireal

Highlight the salient feature of town-planning of Harappan
Civilizanon.

g

UNIT-1I (3&0E-11)

Highlight the Indian social system on the basis of the
references evidenced in Later-Vedic literature.

s A ThEE ¥ W@ TR B MR W TR
TSI W N e

Write an essay on the origin and development of caste system
in Ancient India.

o uRd § W e # oSaf W faww | T
ey fafE

UNIT-III ( 3aE-111)

Highlight the salient feature of Mauryan administration.
S Fet TR ot W e e R
giferal

712/31,400/KD/1016 6

Write an essév oo —ale

seriod z2d commerce during the Gupta

TEER =7 T8 TO= W uF fey fofeg)

UNIT-TV (3&6-1V )

Show the ——poez=: Harappan sites of Haryana in the map

of Indiz zmc =72 = short note on the same.

F T T T W UE @y fran fafau

-~

g F == =3

Show e Aoxzs S
e Asoxas 2diors o ] i
3 3 1 the map of India and write a

shom 2z oo e e

== 5

T=Es § OFETE ¥ AT § Wie e w1
TEIL Y F R W @y fewnh fafaw

712/31,400/KD/1016 7
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GSE/D-16 714
POLITICAL SCIENCE
(Indian Constitution)
Option-1
Time : Three Hours] [Maximum Marks : 80

Note : Attempt any five questions in all. All questions carry equal
marks.

e ;. fodl g WA % Iw A o Tl ® oiw T
2

UNIT-1 (3htE-1)

1. Discuss various sources of Indian Constitution.

IR dfavm & fafv=s get s ==t S

2. Write a note on the Preamble of the Indian Constitution.

AR Efaa #1 y&ae |t ool fafau

UNIT-II (gamE-11 )

3. What are the Emergency powers of President of India?

IRG F TR H SqUAFElT v o &2
714/29,200/KD/1346/Trans. [P.T.O.



4. Kindly highlight the Importance of Chief Minister. 9. Objective type questions (multiple choice) :
TEA HAl % HE S IR Hifw TGS W (TEfEed)
(i) When did constituent assembly meet for the first time?
UNIT-III ( §&1E-111 ) (a) 9 Dec. 1946
(b) 10 Dec. 1947
5.  What are the powers and role of Speaker of Lok Sabha. (©) 15 Aug. 1947
ST ® oA w1 i qen gfged w=n o e (d) 26 Jan. 1950.
Tfaum | w1 TEel W3w w9 g fi?
6. Highlight the role of Panchayati Raj after . .
Amendment. (F)9 fewmr, 1946
739 WA & YR EEd TS # A Fw I - (@) 10 fTEm=R, 1947
e () 15 =, 1947
(%) 26 wHad, 1950.
UNIT-1V (Z&E-1V) (i) Supreme court of India is situated in which city ?
(a) Chennai
7. What are the powers and functions of Supreme Court of (b) Mumbai
India?
. (c) Kolkatta
qE ® Haew OEeE # outEE qo @ e g | .
(d) Delhi.
8. What is the importance of Judicial review in India? uRE H et ey R v § few @2
TR § i wHien #1 F wew 87 () =
(@) g=ig
714/29,200/KD/1346 2 714/29,200/KD/1346 3 [P.T.O.



(iii)

(iv)

(1) HIcThTa

(%) feeeiti

Who appoint Governer in India ?
(a) Cabinet

(b) Vice-President

(c) President

(d) Prime Minister.

I H T # fgfe sF e 82
(%) "iHTEA

(@) 39-Tregafa

(M) Tgafa

(9) FuTHEA

Which part of Indian Constitution deals with directive
principles of state policy ?

(a) st
(b) IInd
(c) lird

(d) IVth.

714/29,200/KD/1346 4

v)

(vi)

faam § w9-8 9m e fagid @ ey @
&

(F) 9om

(@) fgdm

(M T

(%) =gl

Who can remove president of India?

(a) Parliament

(b) Cabinet

(c) Prime Minister

(d) None of these.

UG B TR F FH g gEd 82
(F) 99

(@) "tmves

() FuEH

(%) 319 | wE ft T

Provision relating to amend itself lies in which article
of Indian constitution?

(a) Article 370
(b) Article 248

714/29,200/KD/1346 5 [P.T.O.



(©) Article 268 (viii) Right to religious freedom is mentioned in which Article

(d) None of the above. of Indian Constitution?

ﬁ%ﬂaﬁmﬁﬂ%ﬁ%ﬁ%qﬂmﬂ@
Tafag PH-T SR ©? (b) Article 23 to 24

(c) Article 19 to 22

(a) Article 25 10 28

(F) STWR 370

() TR 248 i T % A T A e
F f&g wy=7 7 2

(M) AT 268 |

Aﬂv ,; 25 [ 28
(7) SR A @ B T 5 28

(vii) Which Article of Indian Constitution Makes provision
of special status to state of Jammu & Kashmir? () IT=T 19 | 22

(a) 270

(b) 370

(©) 271

d) 371

S YR W FE-E SR W T R
9 N T F OISl 3 B WEHH ¥ HE(
27

(F) 270
(@) 370
(M 271
(%) 371.

714/29,200/KD/1346 6 714/29,200/KD/1346 7
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GSE/D-16 716
MICRO ECONOMICS
Paper-1
Time : Three Hours] [Maximum Marks : 80

Note : Attempt five questions in all. Question No. 1 and 2 are
compulsory. Attempt the remaining three questions
selecting one question each from any three of the four
units.

M FA U WA B SW AW WH TE@m 1 a2
Afard & TR R oy A uw sewRal § W
72l 7 4 ¥ ww-uw w

Compulsory Questions ( 37 aTd Wy )

1. Raman goes to market having ¥ 100 in his pocket. If price
of coke is ¥ 5 and samosa is ¥ 10 then answer the following
questions :

(a) Show various combinations that he can purchase with
¥ 100.

(b) Draw the Budget line.
(c) What is the slope of Budget line ?

(d) If price of coke falls from ¥ 5 to ¥ 2, how budget line
will change ? (4x4=16)

716/15,700/KD/852 [P.T.O.



afs o W@ B T 100 TR GRS ®, WEl HiE & (d) Sale-purchase of a commodity is known as
A T 5 Tl A H FHA T 10 T A R owAl ® (i) Demand

IW T (i) Production

(F) = T 100 ¥ fF dEt ® e w2 (iii) Exchange

(iv) None.

(@) S5 [ar §910)
(M) I W@ F AR Tad|

(9 Tk wF H FHI T S G FH EHC T 2 B WA
T A T W W o u9E qe?

(e) Measurement of utility in numbers is called
(i) Cardinal
(ii) Ordinal
(iii) Both

2. (A) Choose the correct answer. (iv) None. (5x1=5)

(a) Consumer wants to maximise

TE IW H T

(i) Wealth
(if) Sales (F) S99 F AfuFam w5 awa 2
(iii) Satisfaction (i) M
(iv) Profit. (i)
(b) The slope of supply curve is normally !
(i) Negative (iii) Hgfe
(i1) Positive (iv) &)

(iii) Horizontal
(@) 9r=a: qfd a% &1 oo B ©

(iv) None.
(c) At break even point (i) HOTHS
WIR =TC (ii) ¥req=
(ii)) TR > TC
(iii) FAMARR
(iii) TR< TC
(iv) None. (iv) ¥ T8

716/15,700/KD/852 2 716/15,700/KD/852 3 [PT.O



(B)

(M) FHfae fag W

(i) TR=TC
(i) TR>TC
(iii) TR<TC
(iv) ®1% &

(W) fFlt o # -39 FEar

(i) =
(ii) I9IRA
(iv) 1§ &

(T) gemsi § ITfiar %1 " FEer &

(i) TOHETER
(ii) sydarEs
(iii) TAL

(iv) ®E &

Match the following :

(a)
(b)

(©)
d

(e)

Adam Smith

Price Mechanism

Necessities
Law of Diminishing
Maiginal Utility

Principles of Economics

716/15,700/KD/852 4

(1) Capitalism

(2) Less Elastic
Demand

(3) Wealth of Nations

(4) Marshall

(5) Gossen's First Law
(5x1=5)

716/15,700/KD/852 5

= #r faem w1
(%) Ten fay (1) gofa=
(@) w4 (2) %9 A=A =}
(M) sfariag (3) T F A
(9) wedt dH et (4) wiA

1 fram

(T) g & fram
(C) Define the following :

(5) AT w1 yaw e

(a) Production possibility curve.
(b) Contraction of demand.

(c) Cross elasticity of demand.
= =t oftaw fag
(F) IUEA F9IET 9F|

(3x2=6)

(@) 9 *T Feg=A|
(M) T F IS A=

UNIT-I (ZehtE-1)

Whether Economics is a social or natural science ? Give

argument in favour and against. 16

Ao T T foem € 9 mefe faee? o
T § faug § @& 3

[P.T.O.



Define Law of Demand. Why Demand curve slopes down-
wards 16
o % fram #) onEw w) AW aF F M RIS

i g 7

UNIT-H ( 3=mE-11)

5. What are [ndifference curves ? Discuss their properties. 16
T @E o §) I faeve Fam

6. Explain Consumer's surplus. How is it measured 7 16
TqviER F AEA D O 2 T FE W ¥

UNIT-TH ( Z&TE-111)

7. Explain _Lmé. of Returns to scale. 16
A F o F fed o= =

8. What is Producer's equilibrium 7 Discuss it with the help of
isoquants. 16
%%aﬁuﬂﬁ@ﬁ_ﬁlwﬂﬂmﬁ%
e ¥ THE = w#

UNIT-IV (F&E-1V)

9. Explain Short-run Cost curves as per traditional theory of
cost. 16
I ® A fagr B SER STedEe e
FH F = F

716/15,700/KD/852 6

10. What are AR. MR and TR 7 Discuss their relation.

AR, MR @=1 TR

716/15,700/KD/852

e

S I-C -l ke Iy

16
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F W frE (FE A GSE/D-16 721
(W) et & iR weart & ™ oy HEALTH AND PHYSICAL EDUCATION
(3) =i =t ¢ 9t favra ferm))
. Time : Three Hours] [Maximum Marks : 60
(3) 3 T &7

Note :  Attempt five questions in all, selecting one question from
each Unit (Unit-I to IV). Question No. 9 of Unit-V is
compulsory.

T . mﬂaH@mﬁwzmﬂiﬂwﬂaw@nﬂﬂqﬁ
mﬂﬂd%&m&ﬂi%wﬂ&aﬂﬂuﬁg
9 (%R V) stf@Erd 3

UNIT-I (eté-1)

1. Explain in detail about aim, objectives and importance of
Physical Education in Modern Society. 10

ﬂ&@ﬂ@ﬁﬁmﬁ%ﬁﬁﬂﬂmﬁz@ﬂj
F

2. Explain in detail about misconceptions regarding Physical
Education. 10

%@ﬁ%ﬂmiﬁﬂ&ﬁmﬁz@mﬂﬂ_
UNIT-II (gehtd-1IT )

3. Define Health and its importance in detail. 10

ﬁ%ﬂﬁ%ﬁ@@mﬁﬁﬂﬁg@%ﬂ_

721/8,600/KD/260 4 721/8,600/KD/260 [P.T.O.



What do you mean by Personal hygiene ? Explain its
importance in detail.

i Wesd ¥ = At 27 99 Te %1 faEr 9
FuF

UNIT-III ( $&T3-I11 )

Explain in detail about meaning of Yoga and its importance
for healthy life. 10
I w1 ef TH Wy Sed # fau e mew w1 fawr
g gug w

Write in detail about Pranayama—its meaning, types and their

benefits. 10

WA F 31, YRR wE o9 # AR § guH sy

UNIT-1V (Z&iE-1V )

Explain in detail about Structure of Cell with diagram. 10

%ﬂﬁﬁﬁﬂﬂﬂwﬂ,@ﬁm@%ﬂ_

Define Anatomy and Physcology and explain in detail about
its importance in Physical Education. 10

e T faam @ iR T famm &1 ot famy qen
Wi e o @@ qem w1 foRar § avl &Y

721/8,600/KD/260 2

UNIT-V ( T&TE-V )

Compulsory Question

( etfrard wewr)

(a) What do you mean by Recreational activities ?
(b) Name any swo self-defensive Exercises.

(c) Define health according to World Health Organisation
(W.H.0.)

(d) Name three factors affecting Health.
(e) Define Yoga according to Patanjali.
(f) How Yoga helps in removing mental tension.

(g) Name Yogic Kriyas used for internal cleanliness (any
two)

(h) Name any mwo systems of Body.

(i) Write down two characteristics of Cell.

(3) What is Organ ? 2x10=20

(F) TSRS fraet @ @ a2

(@) =l AN srowes st # wm g

(1) fova = TMeR % wWReF Y wn i & 22

(%) TR 1w F A R e @ Am
o

() Jo=ter & ARt F o o @ 2

() I 59 TR AAfaF TE W [ FW F TEEa
FA 87

721/8,600/KD/260 3 [P.T.O.
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GSE/D-16 723

MUSIC (INSTRUMENTAL)
Paper : I (Theory)

Time : Three Hours] [Maximum Marks : 40

Note : Attempt five questions in all, selecting one question from
each unit. All questions carry equal marks.

AT : TOF R A ¥ TH WA g gU, wAE UG WA B
I Afw gt g ® ot TEE 2

UNIT-I (Toh13-1)

1.  Write the notation of any Razakhani Gat of your syllabus with
two Toras. 8

A USTHH F HE TE W H R T H ERfafy
T drel gfen fafaw

2.  Write the notation of any Maseet Khani Gat of your syllabus
with two Toras. 8

%gﬁgﬁﬁﬂ%ﬂﬂ%
T drel wfgg fafaw

3. Describe Rag Alhaiya-Bilawal with its Aroh, Avroh and Pokar.
8

T Feew faoae #1 90 39S STRIE-STEE a1 THE
gfea fafau

723/4,300/KD/261 [P.T.O.



4.

Write in detail about Rag Yaman and Bhupali. (4+4=8)

T A qer T quet & fawm # fangdw fafam)
UNIT-II ( 3htE-11 )

5. Write in detail about Shruti and Gat. (4+4=8)
g 7 T % favw ¥ fowmgdw fafau)
6.  Write short notes on any two of the following :
(a) Toda.
(b) Jhala.
(c) Sangeet.
(d) Nad (4+4=8)
frfafes 7 @ fF=l @t m feuoht fafan .
(F) drel
(@) gren
(M) =i
(¥) ]
7. Discuss the structure of Sitar and its techniques. 8
fHaR &1 IAEe qon IS G HI qEAE W TG W
UNIT-III ( 3%E-11I )
m.. Differentiate between Folk and Classical music. 8
A Gl qu e wie W OSRR TR Hifay
723/4,300/KD/261 2

10.

Write down the contribution of Ustad Allauddin Khan in the
field of music. 8

IWR e @ # wia ® &% § aew fafau)
Write the notation of Chautal and Ektal with Ekgun and Dugun
Laykaries. (4+4=8)
T de THA FI IAR! THO 9 T oG §
foafrag wifsT)

723/4,300/KD/261 3
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GSE/D-16 735

OFFICE MANAGEMENT

Time : Three Hours] [Maximum Marks : 80

Note : Attempt any five questions. All questions carry equal marks.

e . &= ufe gvdl # I Afem /s ueE & 3w 9E e

g
What do you mean by Office Management ? State the functions
of Office management.
FHEE WEY 9 ATE F AGyE 37 wEed ye &
FME TR0
Who is an Office Manager ? Outline his functions, qualities
and gualifications.
o TR S B 87 SHE S, Wiad ud Fraare
=1 1 e

What is Office Organisation ? Briefly state the basic principles
of Office organisation.

FEET T G T A 2 HEEE €6 ® S
fagmal #1 F&9 | wdEy

State briefly the factors to be considered in selecting the site
for an office accommodation.

FEfed WE7 B WH % YE H AW 3 A a@
gay # Fasu

735/2,200/KD/268& {P.T.O.



"Layout is very important for Office operations.” Criticallv
examine this statement.

‘AT WeeR 3] FEE faew wgd mewyd 31w
YN T TAATF &7 § /Ty 5

Explain the importance of a good working environment for
the office staff. Discuss the consideration you will take into
account while planning for office lighting, ventilation and
furnishing.

FERT WIF T TS & GWER # gew F sy
) HrETE H W, T & AA-mE 7y e § s
* N WM T 4G S w1 s w13

What do you understand by Communication ? What factors
would you keep in mind while choosing various media of
communication for a modern office ?

HevmEre ¥ ST N A 27 ©F anfr s wq
T % fafy= difem &1 =29 =@ 99 a1y f5q a
H EE H @Y

What do you mean by Office Correspondence ? Explain the
role of Internet in Office correspondence.

FET TIER W A9 N R £ s TEER
e T yftw #1 = s

State and explain the principles of Office organisation.

FERE W % o w1 swen wifw

735/2,200/KD/268 2

10. Explain the factors that affect the degree of decentralisation

of authority in an office. Why is it needed ?
TF FEGE § AER F e 8 w5 g
F AR A B A FE I F STEvEEA 2

735/2,200/KD/268 3
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GSE/D-16 744

MATHEMATICS
(Algebra)
Paper : BM-111

Time : Three Hours] [Maximum Marks : 27

Note : Attempt five questions in all. Question No. 1 is
compulsory. Select one question from each section.

Compulsory Question

1. (a) If A and B are symmetric matrices, show that AB + BA
is symmetric and AB - BA is skew-symmetric.

(172)
2 00

(b) Find the rank of the matrix A=|0 3 0 (1¥4)
0 0 4

(¢c) If ais the eigen value of a non-singular matrix A, then

prove that ._IMI_ is an eigen value of adj A. (1%2)

(d) If o, B, yare the roots of the equation x> + gx + r = 0,

H —_
then show that M.m = ﬂa (1%2)

(e) Solve the equation x> — 4x2 + 6x — 4 = 0, given that
1 + i is one of the roots. (D

744/12,200/KD/273 [P.T.O.



SECTION-I

2. (a) Every square matrix A can be expressed in one and
only one way as P + iQ, where P and Q are Hermitian
matrices. 212)
(b) Find the rank of the matrix
1 2 -1 3
A=|-2 4 4 -7 by reducing it to Normal form.
1 2 1 2
(2¥2)
3. (a) Verify Cayley-Hamilton Theorem for the matrix
0 0 1
A= 3 1 0l .1d hence compute A1, (2%)
-2 1 4
(b) Prove that any rwo characteristic vectors corresponding
to two distinct characteristic roots of a Hermitian matrix
are orthogonal. (2¥2)
SECTION-II
4. (a) For what value of A, does the system
I -2 -1}|x -1
3 -1 2(lyl=| 1
0 1 Az 1
has (i) no solution, (ii) unique solution, (iii) more than
one solution ? 2v2)
(b) Solve completely the following system of equations :
x+2y+3z=0
2x+3y+4z=0
7x + 13y + 192 = 0. (0273)
744/12,200/KD/273 2

(b)

(b)

(b)

8. (a)

(b)

°

(a)

(b)

If A is a real skew-symmetric matrix such that
AZ + 1 =0, show that A is orthogonal and is of even
order.

(2V2)
Prove that 9x% + y2 + 472 + 6xy — 12xz — 4yz is positive
semi-definite. (215)

SECTION-III
Form an equation of lowest degree with rational co-
efficients, one of whose roots is »\M + /\M . 2¥2)

Find the condition that the roots of the equation
x3 4 3px? + 3gx + r=0are in (i) AP, (ii) GP. (2%)

Solve the equation 15x* — 8x — 14x2 + 8x - 1 = 0,

given that roots are in H.P. 2%2)
Find the equation of squared differences of the roots of
the equation P-Tx+6=0. (027%3]
SECTION-1IV
Solve the equation x> — 3x% + 12x + 16 = 0 by Cardon's
method. 2%2)
Apply Descarte's method to solve the equation
x*-3x2 - 42x - 40 =0. (2%)
Solve the equation x* — 4x3 — 4x2 - 24x + 15 = 0 by
Ferrari's method. 2¥2)

Apply Descarte's rule of sign to prove that all the roots
of the equation x* — 3x3 — 5x% + 2x — 1 = 0 are real.
(2v2)

744/12,200/KD/273 3
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GSE/D-16 745

MATHEMATICS
(Calculus)
Paper : BM-112

Time : Three Hours] [Maximum Marks : 26
Note : Attempt five questions in all. Question No. 1 is

compulsory. Select one question from each section.

Compulsory Question

1. (a) Evaluate Lt P. 2
x—0 _ X _

(b) Ify = ae™ + be™ prove that y> — m2y = 0. 1
(¢) Define Radius of curvature. 1

/2
(d) Evaluate .— sin®6 d6 . 1

0
(e) Define Quadrature. 1

SECTION-I
2. (a) Using €8 definition, prove that | x | is a continuous
function. 2Vs
sin™ x

(b) If y= I/\ﬂl'w, prove that
—- X

=0y = @n+ 3y, ~(n+ DYy =0, 2%
745/12,200/KD/274 [P.T.O.



3. (a) State and prove Maclaurin's theorem with Lagrange's
form of remainder after 5 terms. 2%,
(b) If Aix) = 3 + 82 + 15x - 24; calculate the value of
11 )
f mm by the aplication of Taylor's series. 21
SECTION-II
4. (a) Find all the asymptotes of the curve
mi&-%il&é. 204
(b) Find the asymptotes of the curve r= 2 . 2%
I+2cos @
5. (@ If Py and p, are the radii of curvature at the extremities
of a focal chord of a parabola whose semj latus-rectum
is I, prove that (p,)™ + (p,) ™ = (122 24
(b) Find the radius of Curvature at the origin for the curve
@m-%ﬁ@f@wlmmugiwuﬁuo
22
SECTION-III
ni2
6. (@ If u = ._. x"sinxdx and n > 1, show that
0
P n-1
U, +n(n—Du, _,=n > - 25
(b) Evaluate the integral
o 4
X
dx. 24
Mv_‘AQN + .X.NVA
745/12,200/KD/274 2

(a)

(b)

(a)

(b)

(a)

(b)

Show that the length of the loop of the curve
R 4a
3ay~ = x(x - q)? is ﬂ 2

Show that the intrinsic equation of the parabola
y? = dax is
§ = acoty cosec ¥ + a log (cot VY + cosec ).
21

SECTION-1V

Find the area common to the parabola y% = 4gx and
x? = 4ay. 214

Find the area inside the circle r = sin 0 and outside the
cardioid r = 1 ~ cos 8. 214

The circle x% + y2 = 42 ig revolved about the x-axis.
Find the volume of the sphere so formed. 2V

Find the volume of the solid generated by revolving
one loop of the lemniscate 72 = 42 cos 20 about the line

=—. 2V

745/12,200/KD/274 3
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Time : Three Hours]

OGSE/D-16 T58
ENGLISH

[Maximum Marks : 80

Note : Attempt all questions.

1.

Explain with reference to the context :
Death be not pround, though some have called thee
Mighty and dreadful, for thou art not so,
For those whom thou think'st thou dost overthrow
Die not, poor Death, nor yet canst thou kill me.
OR
A people starved and stabbed in the untilled field,~
An army, which liberticide and prey
Makes as a two-edged sword to all who wield,~
Golden and sanguine laws which tempt and saly. 8

Read the following extract and answer the questions that
follow : ;

When I consider how my light is spent

Ere half my days, in this dark world and wide

And that one talent which is death to hide

Lodged with me useless, though my soul more bent

To serve therewith my maker, and present

My true account, lest he returning chide.

758/3,700/KD/231 [PTC.
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(i) Name the poem and the poet.
(i) What happened with the poet before half of his life 7
(iii) Which talent did the poet have ?
(iv) What did he think about his talent 7
OR
What you think of prospects of world peace ?
Pakistan behaving like this,
China behaving like that,
It is making me very sad, I am telling you.
Really most harassing me.
(i) Name the poem and the poet.
(i) What question does the speaker ask his listeners ?
(iii) How does Pakistan and China behaving, according to
the speaker ? |

(iv) How does the speaker express his feelings of patriotism ?
8

3.  Answer any four of the following questions

(i) Why does the mpoet compare true love to the Pole Star
in 'Let Me Not to the Marriage of True Minds' ?

(i) What do you understand by 'City of Palm Trees' ?

(ili) Who was Flecknoe ?

(iv) Where was the little black boy born 7

(v) How does the speaker interpret : 'Sparrows' good-night
twitter' 7

(vi) Where is God found, according to the poet in
'Leave She Chanting' ?

(vil) Explain : 'Good fences make good neighbours'. 8

758/3,700/KD/231 2

4. Attempt a critical appreciation of the poem "When You
Are Old'.

OR

Consider "Shadwell” as a satire. 8

5. Do as directed (Attempt any tiventy).

~—

a) Fill in the blank spaces using appropriate articles,

wherever necessary .

(1) erreeennnes . oranges are grown in Spain, South

Africa, Brazil and Israel.

(i)  He had always hoped that his son would go to

..... v University.

(iii)  ..ceeeeeen.... water in that stream is not suitable

for drinking.
(iv) I understand he is to marry ............... heiress.
(v) When do you have ....... veeenn. breakfast 7

(b) Fill in the blanks with correct form of the verb :

(1) A new car ... . a lot of money. (cost)
(it)  Jet aeroplanes ........ s very fast. (fly)
(iii) Ten miles ............... a long way to walk. (be)
(iv) Her uncle and aunt .............. a house in the

country. (have)
(v) I want a briefcase that ......... ... e until I retire

from business. (last)

758/3,700/KD/231 3 PTO.
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UNIT-IV (SeTE-1V)

8. Explain the concepts of total cost, average cost and marginal
cost in short period with the help of tables and diagrams.
Also explain the relationship between average cost and
marginal cost. 16

ﬂcmmﬁvwﬂﬁ%mﬁ%ﬁﬂmﬂaﬁg@: i
ﬁ%ﬁ%%mﬁﬂmﬁ@&%&@ﬂﬁ_%
mﬁ%ﬂ%%ﬂﬂ&%&%%&

9, Explain the following :
frfafem = oen ®ied
(i) Concepts of TR and MR and their Relationship.
TR @ MR & SEEROTE T T WA
(ii) Break-even analysis.
- faweawmm 8,8

764/4,700/KD/233 4
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OGSE/D-16 764
ECONOMICS

(Micro Economics — 1)

Paper : 1

Time : Three Hours] [Maximum Marks : 80

Note : Attempt five questions in all. Question No. 1 is compulsory.
Select one question from any of three units and the fourth

question may be attempted from any unit.

Rz ;. A AT T FINY T FEA | afrard 21 gl 9
%@ﬂ.&-ﬂ&nﬁﬁmﬂm%mﬁ%sgﬁ
foe o THE @ fRE ST WA €

Compulsory Question
(erfrard w9 )
1. Write brief notes on the following : (8x2=16)
Frefafen T weE oo i
(i) What is Economic Problem ?
o wEem w7
(i) Explain two determinants of demand.

T B @ R @ oavE wiEEl

764/4,700/KD/233 [PT.O.



&

(i) Explain the Law of Demand. . 3.
o & fEm w1 v wiedl
(iv) What is income elasticity of demand ?
W & o @ e g ?
(v) Explain the difference between Explicit cost and Implicit
cost.
o 5 Ffe ard ¥ emR T it 4
(vi) What are internal and external economies ?

%miﬁmﬁ%ww

Fill in the blanks with appropriate answers :

IR SN fem w afE
(vii) When total utility is maximum, marginal utility 5.

Gwﬁo\mo&ﬁ?m\:omwm/\mv

ST afysam T ', e
ST oo T E (T SR/ FROICHR)
(VIEL) covrveneeeees economies are shared in by all firms.
(internal/external).
R wsh wE W W B g
(err=afEmamsi) | 6.

UNIT-I (g&E-1)

What is Capitalism ? How are the economic problems in a

What is price elasticity of demand ? Explain any three
methods for the measurement of price elasticity of
demand. 16
i w1 E A A 7 T E EA A E

g w5 wE am fanE fateE

UNIT-1I (eE-11)
Explain the Law of Equi-marginal utility with the help of

table and diagram. Also explain the importance of the law

of equi-marginal utility. 16
- swAfT & fram sl wfes 9 ey g1
%%_ﬁ-ﬁﬁﬂmﬂm@%ﬂﬁﬁﬁﬂ&
Eniee ‘

Explain ~ Price effect, income effect and substitution effect.
Also explain that price effect is a combination of income
and substitution effects. 16
%ﬂmnﬁ@%mﬁmmﬁgﬂgﬁmﬁmﬁﬁﬂ%a

o v wife [ eI AE e A Ylaediun 4His
=1 g4

UNIT-III (geris-101) .
Explain the Law of Variable proportions with the help of

table and diagram. Also explain the stage of decision-making.
16

ﬂm-mﬁ%ﬂ%ﬂﬁ%ﬂ@ﬁm%%%
%_ﬁ%%%%ﬁ&%%_

Capitalist System solved ? 16
SRR T = AU T2 3 anffs waeEeT @ 7.  What are Iso-quants 7 What are their properties ? 16
N qo-TEE S AR € 7 Tl e 27 w1 gviA it
g 34 g ¥ 2
T ” - 764/4,700/KD/233 3 [PTO.
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GSE/D-16 772

MATHEMATICS
(Algebra)
Paper : BM-111

Time : Three Hours] [Maximum Marks : 40

Note : Attempt five questions in all. Question No. 1 is compulsory.
Select one question from each section.

Compulsory Question
1. (a) Show that diagonal elements of a Hermitian matrix are

all real. 1¥2
(b) Define Linear dependence and Linear independence
of vectors. 1%
(c) Prove that eigen values of A? are squares of the
eigen values of A. Y2
(d) Find the value of a in order that the roots of the
equation 2x*> + 6x2 + 5x + a = 0 are in A.P. 2
(e) State Descarte's rule of sign. 1%2
SECTION-I

2. (a) Show that every square matrix A can be expressed
in one and only one way as P + iQ, where P and Q are

Hermitian matrices. 4
1 3 2

(b) Find inverse of A={0 4 1| by using elementary
523

operations. 4

772/19,500/KD/236 [PT.O.



(b)

(b)

5. (a

(b)

6. (a)

(b)

State and prove Cayley-Hamilton Theorem. 4
Prove that any two charateristic vectors corresponding
to two different characteristic roots of a Hermitian
matrix are orthogonal. 4

SECTION-II
Solve the equations :
x-y+2:-3w=0
3x+2y-4z+w=0
4x - 2y + 9w = 0. 4
If A and B are two non-singular matrices of same order
such that AA’' = BB’, show that there exists an
orthogonal matrix P such that A = BP. 4

Obtain the linear transformation which reduces the

3 2 -1
bilinear form X| 2 2 -=3!|Y to canonical form. 4
-1 3 1

Diagonalize the quadratic form

\«_N - wxw + wkw — 4x,x7 + 6x3x;.
Also find rank, index, signature and equations of

transformation. 4

SECTION-III
Solve the equation x* —8x® +23x? —28x+12=0, given
that the difference of two of the roots is equal to the

difference of other two. 4
Solve the equation 3x% — 19x? + 33x — 9 = 0 which has
repeated roots. 4

772/19,500/KD/236 2

7. (a) If o, B, y are roots of the equation x> — ax? + bx —c =0,
form an equation whose roots are B+vy, y+a, o+p.
1 1 1 .
Also express + + in terms
B+y vy+a a+P
of a, b, c. 4
(b) Find the equation of the squared difference of the
roots of the equation x> +3x2-3x+1=0. 4
SECTION-1V
8. (a) Using Cardon's method, show that the roots of the
equation x> — 3x + 1 = 0 are
2 cos m 2 cos mla 2 cos El.a 4
9 9 9
(b) Solve the equation x* — 2x> — 5x + 10x — 3 = 0 by
Descarte's method. 4
9. (a) Solve the equation x* — 10x> + 26x*> — 10x + 1 = 0 by
Ferrari's method. 4
(b) Show that for all values of ¢, the equation
® + 5x% + 3x + ¢ = 0 has at least two imaginary
roots. 4
772/19,500/KD/236 3
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GSE/D-16 773

CALCULUS
Paper : BM-112

Time : Three Hours] [Maximum Marks : 40

Note : Attempt five questions in all. Question No. 1 is
compulsory. Select one question from each section.

Compulsory Question

[0S

1. (a) Prove that | sin x | is continuous.

by

(by If y=e™im " prove that (1 — x?)y, — xy; = m%y. 2
(¢) Define Radius of Curvature. 1
(d) What is the Point of Inflexion ? 1
(e) Prove %m,ﬂ
72
... sin’® x sin®x dx = —. 2
693
0
SECTION-I
2. (a) Prove that the function f defined by
2 1

x“sin— if xz0

f(x)= x
0 if x=0

is continuous and derivable at x = 0 but its derivative is
not continuous at x = 0. 4

773/20,400/KD/853 [P.T.O.



(b) If flx) = x> — 2x + 5, then by Taylor's theorem evaluate
f2.01) to four places of decimal. 4
.1
sin”" x
3. (a Ify= > prove that
1-x
(1 =22y, — @+ By, = (0 + D2y =0, 4
(b) Expand tan x in powers of T - mw upto four terms.
4
SECTION-II
4. (a) Find all the asymptotes of the curve
amlmauw+:xvh|@u+x+v\+~no. 4
(b) Show that for the curve y = log x, the least value of lpl
is u|z\M 4
2
5. (a) Find the radius of curvature at the origin for the curve
w&a+§%€+$~u+@uluamlg.fwwlﬁno.
(b) IfC, Ow be the chord of curvature parallel to co-ordinate
axis at any point of the curve
x
y=Ccosh =, prove that 4C%(C 2+ C % = C*.
4
773/20,400/KD/853 2

6. (a)
(b)

(b)

8. (a)

(b)

(b)

SECTION-III

Trace the curve y(x? + 442) = 843 4
Prove that
n/2
_
._.mm:?x&xu 2n! N.m.. 4
[2"(nhH}* 2

0

Find the length of the arc x2 + y2 — 2ax = 0 in the first

quadrant, 4
Find the intrinsic equation of the curve y = a log sec M“
a
s being measured from the origin. 4
SECTION-IV

Find the area between the curve x%y2 = a2(3? — x2) and
its asymptote. 4

Find the area of one loop of the curve r = g sin 36. 4

Find the volume of the solid generated by revolving

2 2
the ellipse ,xﬂ +2._=1 about the x-axis. 4

a b?

Find the centroid of the area bounded by y2 = 4qx, the
x-axis and the ordinate x = b. 4

773/20,400/KD/853 3



UNIT-H
4. (a) What are Generalised coordinates ? What are the
advantages of using them ? 4
(b) What is Atwood's machine ? Obtain its Lagrangian and
hence obtain expressions for its accelerations. 4

S. (a) Explain Generalised velocity and Generalised
acceleration. 5

(b) Show that constraints imposed on the systems reduce

the minimum no. of coordinates required to describe

the systems. 3

UNIT-I
6. What are Galilean Transformations ? Show that Law of
Conservation of energy and momentum are invariant under
Galilean Transformation. 8

7. (a) What is Cariolis force ? Discuss the effect of Cariolis
force on the motion of an object on the surface of

earth. 5

(b) What is the importance of Michelson and Morley expt. ?
What conclusions can be drawn from it ? 3

UNIT-IV
8.  State the fundamental postulates of Special theory of relativity.
Deduce Lorentz Transformations from them. 8

9. (a) What is the meaning of Mass-Energy equivalence ?
Obtain Einstein's mass-energy relation

E = mc2. 5

(b) Find the velocity at which the mass of a particle

becomes two times of its rest mass. 3

777/17,500/KD/240 2

Roll No. ..o, Total Pages : 2

GSE/D-16 777

PHYSICS
(Classical Mechanics and Theory of Relativity)
Paper-1

Time : Three Hours] [Maximum Marks : 40

Note : Question No. 1 is compulsory. Attempt four more
questions selecting one question from each unit.

Compulsory Question

1. (a) What are Conservative and Non-conservative forces ?
Explain with example.

(b) What is Configurational space ? Explain. -
(c) What are Fictitious forces ? Explain with example.

(d) Show that no body can travel with a velocity greater
than the velocity of light 'c'. - (2x4=8)

UNIT-1
2. State and prove Law of Conservation of energy for a single

particle system. 8

3. (a) State and prove Law of Conservation of angular

momentum for a single particle system. 4

(b) What is Centre of mass of a body ? Derive expression

for centre of mass of a two-particle system. 4
777/17,500/KD/240 [PTO.
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GSE/D-16 778
PHYSICS
(Electricity, Magnetism and Electromagnetic Waves)
Paper-11
Time : Three Hours] [Maximum Marks : 40

Note : Attempt five questions in all, selecting one question from
each unit. Question No. 1 is compulsory

Compulsory Question

1. (a) Explain scalar and vector fields with examples. 2
(b) Explain the meaning of solenoidal nature of magnetic
—
field B . 2
(c) Explain the concept of Poynting Vector. 2

(d) Write down the uses of series and parallel resonant

circuits. 2

UNIT-I

2. (a) What do you mean by divergence of a Vector field ?
Derive an expression for its Cartesian co-ordinates.

Also show that div grad ¢ is a Laplacian, where ¢ is

a scalar. 5

(b) Using Gauss's law, derive an expression for the electric
field intensity at a point near an infinite plane sheet of

charge. 3
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3. (a
(b)

(b)

(b)

(b)

7. (a)

(b)

Derive Poisson's and Laplace's equations. 4

Prove that the electric field inside a conductor is
absent. 4

UNIT-I
Prove that 5

. - >
@) V-B =0 and

- -

.o |IIV
() VxB=pyJ.

Give the comparison between Electrostatic field and

Magnetic field. 3

Explain the domain theory of Ferromagnetism. 4

Discuss the importance of Hysteresis curves. 4
UNIT-1II

Derive four Maxwell's equations in the Integral

form. 4

Explain the concepts of Scalar and Vector potentials.
4

Explain the concept of Displacement current in
detail. 4

- ~
Explain the Boundary conditions for B and E at the

interface between the two media. 4

778/17,500/KD/241 2

8.

(a)

(b)

()

(b)

UNIT-1V
Discuss the charging and discharging of a capacitor
through an inductor and also show that it is
oscillatory. 5
A resistance of 40 ohm, inductance of 3 mH and a
capacitance of 2 UF are connected in series with
110 volt, 5000 Hz a.c. source. Calculate the current in
the circuit. 3

Define the bandwidth and sharpness of resonance in a
series resonant circuit. Derive a relation between these
two. 5
In a circuit a 50 ohm resistor, 0.3 Henry inductor
and a 60 UF capacitor are connected in series with a
120 volt, 60 Hz source of alternating emf. Calculate
the impedance of the circuit. 3

778/17,500/KD/241 ‘ 3



9. (a) What is Proton affinity ? Calculate proton affinity of
ammonia using Born-Haber cycle from the following
thermodynamic data :

(1)  NH;(g)+HCl(g) - NH,CI(s)+144.1 kImol .

()  HCl(g)+430.9kImol™' — H(g)+Cl(g).

(i)  H(g)+1311.6 kI mol™' - H"(g)+e".

(iv)  Cl(g)+e —>Cl (g)+347.2 kKImol ™.

(V) NHj(g)+Cl (g) = NH,CI(s)+648.5 k] mol~".

2Va

(b) Sodium chloride has fcc structure. How many Na* and

CI- ions are present in the unit cell ? 1V2
(c) What should be the coordination number of M*

in MX if ionic radii of M* and X~ are 1.69A and 1.81A

respectively ? 2

779/16,300/KD/242 4
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779

GSE/D-16
CHEMISTRY
[Inorganic Chemistry (Theory)]
Paper—1
Time : Three Hours] [Maximum Marks : 32

Note : Attempt five questions in all. Question No. 1 is compulsory.
Select two questions from each section.

Compulsory Question
1. Answer the following :

(a) Write electronic configuration of Pd (Z = 46).

(b) Arrange the following in decreasing order of their
electron affinity :

B, C, N and O.

(c) Inaclose packed array of N spheres, predict the number
of octahedral and tetrahedral holes.

(d) What is coordination number in three-dimensional cubic
close packed structure ?

(e) Which is more stable between CO and CO* ?

(f) What is the relationship between Pauling scale and
Mulliken concept of electronegativity ?

(g) Which has more bond angle between NH, and NF; ?
Explain.

(h) What is Madelung constant ? (1x8=8)

779/16,300/KD/242 [PT.O.



SECTION-A

2. (a) Why energy level of orbitals is different for hydrogen
and other multi-electron atoms ? 2
(b) Calculate effective nuclear charge for an electron in
3d orbital of Zinc, (Z = 30). 2
(c) What are Normal and Orthogonal wave functions ?2
3. (a) Calculate the ratio between the wavelength of an
electron and proton if the proton is moving with half
the velocity of the electron.
(Mass of proton = 1.67 x 1072* g, mass of electron
=9.11 x 1028 g) 22
(b) Write the mathematical expression for the radial part
of wave function for 2s orbital. 2
(c) What is orbital angular momentum for a d-electron ?
1%
4. (a) The Internuclear distance in KCl is 3.14A. Calculate
the ionic radii of K* and Cl~ ions, using Pauling
method. 2
(b) Give the trend of electron affinity of the second period
elements, 2
(c) Why first ionisation energy of magnesium is higher
than sodium but second ionisation energy of sodium is
higher than magnesium ? 2
5. (a) Discuss various factors on which ionisation energy
depends. Which element has highest Ionisation
energy ? 2Ya
(b) What are Slater's rules and their utility ? 1%
779/16,300/KD/242 2

(©

(b)
(©)

7. (a)

(b)

()

(b)

(©)

What are Isoelectronic species ? Arrange the following
in order of increasing radii :
S%-, K*, Ca*?, CI-. 2

SECTION-B
Give the geometry of sulphur tetrafluoride SF, on the
basis of hybridisation. 2
Explain the formation of sigma and pi covalent bonds. 2
Draw the shape of perchlorate ion ClO,” on the basis
of hybridisation. 2

Explain the stability and magnetic nature of helium
molecule He, and helium molecule ion He,*, on the
basis of molecular orbital theory. 2
Calculate percentage of ionic character in HBr molecule
from the following data :

Bond length = 1.41A, Dipole moment = 0.78 D. 2
Calculate the %age of ionic character in HF
molecule. Electronegativities of H and F are 2.1 and
4.0 respectively. 2

Draw a neat diagram and discuss the structure

of CaF,. 2
Give differences between Schottky and Frenkel
defects. 2

What is Born-Haber cycle ? Give its applications
also. 2

779/16,300/KD/242 3 [PTO.



9.

(a)

(b)

(©

Define Law of symmetry. Explain with a suitable
example to support your answer. 3
Using X-rays of wavelength 154.1 pm and starting
from the glancing angle, the reflection from silver crystal
was found to occur at 8 = 22.20°. Calculate the spacing
between the planes of silver atoms that gave rise to the
above reflection. (sin 22.20° = 0.3778) 2
Which type of crystalline solids have highest melting

point, and why ? 1

780/16,900/KD/243 4

Time : Three Hours]

Total Pages : 4

780

GSE/D-16

CHEMISTRY
(Physical Chemistry)
Paper-II

[Maximum Marks : 32

Note : Attempt five questions in all. Question No. 1 is compulsory.

Select two questions from each section. Log tables are

available.
Compulsory Question
1. (a) Define Co-efficient of viscosity. Describe briefly the
effect of temperature on viscosity. 3
(b) What is Boyle's temperature ? 1
(¢) At what temperature the root mean square velocity of
chlorine gas will be equal to that of SO, at NTP ? 2
(d) What are the crystallographic dimensions of their unit
cells if some solids belong to the following crystal
systems ?
(i) Tetragonal.
(ii) Triclinic. 2
780/16,900/KD/243 [PTO.



(b)

(b)

(b)

(b)

SECTION-A
Describe Andrew's experiment on critical phenomena.
4
Explain diagrammatically how the molecular
velocities change with increase of temperature. 2

Derive expressions for critical constants in terms of
Vander Waal's constants, and hence derive the
relationship between them. 5
Why are the gases helium and hydrogen not liquified
at room temperature by applying high pressure ? 1

Define the following terms :

1) Mean Free Path.

(ii)  Collision Number.

(iii) Collision Frequency.

Discuss the effect of temperature and pressure on
Collision frequency. 3
Calculate the root mean square velocity, average velocity
and most probable velocity of sulphur dioxide molecules
at 427°C. (R = 8.314 x 107 ergs/deg/mol) 2%

Derive reduced equation of state and define Law of
Corresponding states. 4
Calculate the collision frequency of oxygen molecules
at 273 K and one atmospheric pressure, given that the
molecular diameter of oxygen molecules is 2 x 1078cm.
(R = 8.314 x 107 ergs K~! mol™) 2

780/16,900/KD/243 2

(b)

(c)

(b)

(b)

(©)

SECTION-B
Define Surface tension. Describe one method for
determining surface tension of a liquid. 3
Calculate the molar refraction of acetic acid at
temperature at which its density is 1.046 g cm™. The
experimentally observed value of refractive index at
this temperature is 1.3715. 2
What is Dunstan's rule ? 1

What are the elements of symmetry in crystallography ?
Describe each of them briefly. 4
The value of Ewuo for lactose is 55.4°. What is the
concentration in grams per litre of a solution of lactose
which gives a rotation of 7.24° in a 10 cm cell at 20°C
with sodium D light ? 2

The intercepts made by the unit plane on the
crystallographic axes X, Y, Z are 'a’, 'b' and 'c¢'
respectively. A particular face of a crystal makes
intercepts 2a, 2b and 3¢ on the same axes. What are
the Miller indices of this face ? 2
What are the factors on which optical rotation depends ?
Derive an expression for specific rotation. 2
Both NaCl and KCl have similar structures, yet their
X-ray diffraction patterns are remarkably different.
Why ? 2

780/16,900/KD/243 3 [PT.O.



Define the following :
@) Rearrangement reaction.

(ii) Condensation reactions. 2
(b) Define Nucleophile. Give their types. 2
(c) What are Carbocations ? Give two methods of
preparation of carbocations. 2
8. (a) Give IUPAC names of following alkanes :
gl
() omul_nl CH — CH—CH,
CH,
(i1) nmwlmm l_om —CH, 2
C,Hy C,H,
(b) Give preparation of alkanes by Corey-House synthesis.
What are the advantages of this method ? 2
(¢) Complete the following reactions :
(i)  CH,COONa+?——CH, +Na,CO,
Cl
|
(i) CH,;-CH-CH,+? — CH;—CH,—-CH, +HCI
2
9. (a) Give evidences in favour of free radical halogenation
of alkane. 2
(b) Give two methods of preparation of cycloalkanes. 2
(¢) Give the percentage of n-butyl and sec-butyl bromide
formed by monobromination of n-butane when the
relative reactivity of 1°, 2° and 3° hydrogen atoms in
bromination is 1 : 82 : 1600. ‘ 2
781/16,900/KD/244 4
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....................... Total Pages : 4
GSE/D-16 781
CHEMISTRY
(Organic Chemistry)
(Theory)
Paper-III

[Maximum Marks : 32

Note : Attempt five questions in all. Question No. 1 is
compulsory. Attempt two questions each from Section-A
and Section-B.

1.

781/16,500/KD/244

Compulsory Question

Attempt any eight parts.

(@)

(b)

©

(d)

Out of the following which possesses delocalised
chemical bond ?
(i) Conjugated dienes.
(ii)) Non-conjugated dienes.
The presence of heteroatom is necessary in which of
the following effects ?
(i) Inductive effect.
(i)  Electromeric effect.
Arrange the following groups in order of increasing
priority (Lowest first) :

I, Br, -CH,, -OH.
Whether CH,-CH=CH, will show geometrical
isomers or not ?

[PT.O.



(e)

Out of staggered and eclipsed conformation of ethane
which is more stable, and why ?

(f) What does half-headed arrow represent in a molecule ?
(g) Write the type of hybridisation and structure of alkyl
carbanion.
(h) What is Plane of symmetry ?
(i) Mark the secondary carbon atom in the following
alkane :
CH,
CH;-CH, - A_um -CH,
() Sacse proposed to explain the stability of cyclohexane
and higher cycloalkane which type of structures ?
(8x1=8)
SECTION-A
2. (a) What is delocalised chemical bond ? Explain taking
example of 1,3-butadiene. 2
(b) Explain low reactivity of vinyl halides on the basis of
resonance. 2
(c) What are Vander Waal's forces ? How do they depend
on the size of molecule ? 2
3. (a) Whatis Electromeric effect ? Give its types with suitable
example. 2
(b) What is Resonance ? State four conditions which must
be fulfilled by resonating structures. 2
(c) What type of isomerism is shown by CH,CH,OH and
CH,0OCH, ? Define and give one more example. °
781/16,900/KD/244 2

4. (a) Explain the cause of Optical activity. 2
(b) What is Resolution ? Give mechanical and biochemical
method of resolutions. 2
(c) Assign R and S configuration to the following :
# i
@) nmwaﬁ_un OH (ii) omw:%'m 2
H NH,
5. (a) Draw various conformations of n-butane. Give order
of their relative stability. 2
(b) Why glyceraldehyde was selected as standard for
assigning D and L configuration to the compound ?
2
(c) Assign E and Z configuration to the following :
CH,CH, < H
o M MSemed
I OH
CH, OH
(ii) Vn" A 2
H H
SECTION-B
6. (a) What are Homolytic and Heterolytic fissions ? Name
the species formed in each case. 2
(b) What are Carbenes ? Give structure of singlet and triplet
carbenes. 2
(c) What are Free radicals ? Explain the order of alkyl free
radicals on the basis of hyperconjugation. 2
781/16,900/KD/244 3 [PT.O.



reading is a task, a lesson. It is the fun he gets out of
reading that needs to be emphasized. Let him enjoy reading—
let it be a treasured part of his daily life. There is hardly an
activity — a dream or ambition - that reading will not help.
(i) What is the most valuable gift we can give to a child ?
(it) What should the child be made to leamn ?

(i) What will become a valuable part of his daily life ?
(iv) In what way will reading help a child ? 4

Write a paragraph of about 250 words on any one of the
following :
(1) Corruption in Public Life.
(i) Present Examination System.
(iii) Environment Pollution.
(iv) Students and Politics.
(v) Hostel Life. 6
Use the following phrasal verbs in vour own sentences :
(@ (@)  Deal with.

(ii) Run out of.

(iiiy Back out. 3
(b) Fill in the blanks with suitable prepositions :

@) I prefer tea .............. coffee.

(ii)) The Principal was angry ............ the students.

(iii) He fell .............. a ditch. 3
(c) Correct the following sentences :

(i) What are the news ?

(i) Each of the students should do their best.

(iii) The music is the food of the love.

(iv) I wish I can do something for vou. 4

782/21,300/KD/245 4
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GSE/D-16 782
ENGLISH

[Maximum Marks : 40

Note : Attempt all questions.

1.

Read the passage given below and answer the questions
that follow :

From rest and sleep. which but thy picture be

Much pleasure then from thee much more must flow,
And soonest our best men with thee go

Rest of their bones. and soul's delivery.

Questions :
() What are the pictures of death according to the poet ?
(i) What do we get from rest and sleep ?
(iii) Who would meet death at the earliest ?
(iv) What happens to those who meet death ?
(v) Who is the writer of these lines ?

OR
Three years she grew in sun and shower;
Then nature said. ‘A lovelier flower
On earth was never sown:
This child I to myself will take;
She shall be mine, and I will make
A lady of mv own
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Questions : 4.

How does Shakespeare define true love ?

(i) Name the poem and the poet. OR
M.ﬁ %oﬂ mms :” mwaﬂw wwmw No&a years How does the poet justify the ways of God to man in the
m at did natur > sonnet ‘On His Blindness' ?
(iv) What did nature decide about Lucy ? 6
i ? (I1x5 )
(v) How will nature make Lucy (1x5) §. Translate the following passage into English : 4
2. Explain with reference to the context : i G BRI & Sfeq El ﬁwﬂ.ﬂ& ugg w_ LS
Sunset and evening star T = 7R wq 3 Y ¥ .
And one clear call for me ! . g @ o ____.wmﬁ
And may there by no moaning of the bar. TF 9 T 9gd 9§ faenef fem oy w® A <fy
When I put out to sea. uwvcm.ﬂw_wﬂim.mﬁ.@.@m Rf
OR _ 3 = .
T 2 A foenef Sfem s ﬂﬂﬂ.@
Know then thyself, presume not God to scan: L X N ® . i g3 A®
The proper study of mankind is man. T T I et ot 81 o= faeneff 2% .
Placed on this isthmus of a middle state. F T F FNW w® e e ek
A being darkly wise and rudely great. 3 = £z . i
s 7 feore 7 o W v § dg e ww
3. Attempt the following in about 30 words each : T F= 3R FAaR el | 1= 9 T R
(i) What do you understand by 'City of Palm Trees' ?
OR OR
Why should death be not pround of its power ’ Non Hind: . . .
(i) Why does the poet compare true love to the Pole-star ? For Non .mEa_.mvmmwSm\moﬁmc Candidates only)
OR Read the following passage and answer the questions given
ar the end:
Where was the little black boy born ? .
Among all th : . .
ii) The Princes are the 'dregs of their dull race’. Explain. < all the gifts you can gift to a child, there is none
OR maore likely to add richness than a book. Not a book but the
Explain the metaphor of Ship, used in the poem F%,: & awma_sm. Give him the habit of reading and that too
‘Crossing the Bar. with discrimination and you have done something for which
(iv) Why is the King George III despised ? he Bm..,. be thankful to you for all his life. Books should be
OR the dailv companions of the child's life. And they ought not
Who was Flecknoe ? 6 to be associated with the school. Don't make him feel that
782/21,300/KD/245 2 78221.300/KD/245 3 [PTO.



What is Isomorphic Alternation of generations. Explain it
with reference to an Alga studied by you. 8

Write notes on the following :
(a) Daughter colony formation in Volvox.
(b) Vegetative thallus structure in Polysiphonia. (4+4)

Briefly discuss the following :
(a) Sex organs in Nannandrous species of Oedogonium.
(b) Synzoospore in Vaucheria. 4+4)

UNIT-II
Write notes on the following :
(a) Structure of Bacteriophage.
(b) Symptoms of Plant Viral Diseases. (4+4)

Briefly explain the following :
(a) Asexual reproduction in Mucor.
(b) Gill structure in Agaricus. 4+4)

Write notes on the following :
(a) Stages of Puccinia on Barberry.
(b) Sexual reproduction in Penicillium. (4+4)

Briefly discuss the following :
(a) Reproduction in Colletotrichum.
(b) Economic Importance of Lichens. 4+4)

785/6,800/KD/281 2
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Time : Three Hours]

Total Pages : 2

GSE/D-16 785

BOTANY
(Diversity of Microbes)
Paper-I1

[Maximum Marks : 40

Note : Attempt five questions in all. Question No. 1 is compulsory.

1.

2.

Select two questions from each unit. All questions carry
equal marks. Draw well-labelled diagrams where they are
necessary.

Compulsory Question
Define the following terms :
(a) Aerobic Bacteria.
(b) Conjugation in Bacteria.
(c) Triphasic life-cycle.
(d) Plurilocular sporangia.
(e) Lysogenic life-cycle.
(f) Somatogamy in Agaricus.
(g) Acervulus.
(h) Apothecium. (1x8=8)
UNIT-1
Briefly explain the following :
(a) Transformation in Bacteria.
(b) Differences between Bacteria and Cyanobacteria. (4+4)

785/6,800/KD/281 [PT.O.



Explain the following briefly :
(a) Endoplasmic Reticulum.
(b) Functions of Chloroplast. 4,4)

Why mitochondrion is called Power House of Cell. Give its
structure and functions in detail. 8

Write short notes on the following :

(a) Lysosomes.

(b) Peroxisomes.

(c) Vacuoles. (3,3,2)

UNIT-1I
Discuss the prophase-1 of meiosis in Plant Cell. 8

Describe the following :
(a) Translocations.
(b) Duplications. 4.4

Explain the following :
(a) Role of polyploidy in crop improvement.
(b) Aneuploidy and its types. 4.4)

Describe the structural organization and chemical

composition of Chromosomes. 8

786/6,800/KD/282 2

Roll No. i,

Time : Three Hours]

Total Pages : 2

GSE/D-16 786

BOTANY
(Cell Biology)
Paper : 11

[Maximum Marks : 40

Note : Attempt five questions in all, selecting two questions from

each unit. Question No. 1 is compulsory and short answer
type. All questions carry equal marks. Draw neat and
well labelled diagrams where they are necessary.

Compulsory Question

1. (1) What are Suicidal bags ?
(1) Name the cell organelle involved in Photorespiration.
(iii) At which stage synapsis occurs during prophase I of
Meiosis.
(iv) What are Duplications ?
(v) Differentiate between Smooth endoplasmic reticulum
and Rough endoplasmic reticulum.
(vi) Define the term Cytokinesis.
(vii) What kind of enzymes are present in Mitochondrion.
(viii) What is the function of Peroxisomes. (1x8=8)
UNIT-1
2. Give
(a) Structure and chemical nature of Cell Wall.
(b) Functions of Nuclear Envelope. (4,4)
786/6,800/KD/282 [PT.O.
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GSE/D-16 787

ZOOLOGY
(Life & Diversity from Protozoa to Porifera
and Cell Biology — I)
Paper-I

Time : Three Hours] [Maximum Marks : 40

Note : (i) Attempt five questions in all.
(i) Question No. 1 is compulsory.
(iii) Attempt two questions from Section A and two from
Section B.

(Compulsory Question)
1. () Define parasite.
(i) Name the class and order of Scypha.

(i) Which Endoplasmic Reticulum is concerned with
detoxification ?

(iv) Name any two types of intercellular junctions.
(v)  Where does fertilization occurs in Plasmodium ?
(vi) Differentiate between Cilia and Flagella.

(vi) Where do Kreb's Cycle enzymes occur in
mitochondria ?

(viii) Name the phenomenon that prevents self-fertilization
in Sycon.

787/6,900/KD/279 [PTO.



(ix)

(x)

(a)

(b)

(a)

(b)

At what stage of Life Cycle of Plasmodium, malaria
fever occurs ?

Acrosome of the sperm is formed from which
organelle ? (1x10=10)

SECTION-A
Describe Life cycle, disease caused and prophylaxis of
Entamoeba histolytica. h17)
Write symptoms, prevention and therapy of Kala-azar.
2

Write a note on Erythrocytic Schizogony of the Life
Cycle of Plasmodium. 3%
Write notes on Oocyst in Anopheles and Alternation of
generation in Plasmodium. 2+2)

Write peculiar features of Phylum Porifera. Classify its class

Demospongiae upto orders giving characters and examples

of each order. V2

(a) Write a note on choanocyte of a sponge. 3

(b) With the help of diagrams explain Leuconoid Canal

System in sponges. %)
SECTION-B

(a)

(b)

Describe the Na*-K*-ATPase active transport
system. 5
Enumerate chemical composition of plasma membrane.

2Va

787/6,900/KD/279 2

7. (a) Describe ultrastructure of Golgi Body. 3

(b) Give functions of Rough ER. 3

(c) Explain role of Golgi Body in the recycling and

transformation of membrane. 1%,

8. (a) Write a note on autolysosomes. 2

(b) 'Mitochondria are semiautonomous organelles'.

Comment on the statement. 2Ya

(c) Enlist enzymes of Electron Transport Chain and ATP

synthesis in mitochondria. 3

9. (a) Discuss biogenesis of ribosomes in eukaryotes. 3%z

(b) Describe ultrastructure of Centriole. 4
787/6,900/KD/279 3



(b)

5. (a)

(b)

(®)

7. (a)
(b)

(b)

(b)

UNIT-II
Draw circuit diagram and wave shapes of Half wave,
Full wave and Bridge wave rectifiers. @
Derive expression for ripple factor and rectification
efficiency of Full Wave Rectifier (FWR). 4)

Explain the working of Inductor (L) filter and find
expression for its rectification efficiency. (5
Explain the working of Voltage multiplier circuit. (3)

UNIT-HI
Draw and explain the shapes of unbiased and biased
potential curves in a transistor. @)

Draw the output characteristics of C-E configuration
of PNP transistor. Explain why these curves bear some
slope. 4)

Discuss Transistor as an Amplifier. 3)
Write short note on Transistor current components.

&)

UNIT-1V
Draw h-parameter model of C-B and C-E configuration
of transistor. 3)
Explain Ebber's and Moll model of transistor. 5

Compare transistor configurations, i.e., C-B, C-E and
C-C. Out of these three which configuration is widely

used ? &)
Explain Emitter follower circuit. Discuss its advantages.
(3)

791/3,000/KD/286 2
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GSE/D-16 791
ELECTRONICS
(Electronic Devices and Circuits-T)
Paper-1

Time : Three Hours] [Maximum Marks : 40

Note : Attempt five questions in all. Question No. 1 is compulsory.
Select one question from each unit.

Compulsory Question

1. (a) Define PLV. Elaborate its importance. (2)
(b) Explain how Doping modifies band gap. )

(c) Why is it not possible to construct a transistor by
connecting two diodes back-to-back ? 2)

(d) Drive the relation between Current gain o and B. (2)

UNIT-1
2. (a) Explain V-I characteristics of p-n junction diode. 3)
(b) With the help of circuit diagram, explain the working
of positive clamper. (5

3. (a) Explain Shunt Clipping with the help of circuit

diagram. 4)
(b) Explain how Zener diode acts as voltage regulator.
4)
791/3,000/KD/286 [PTO.



(b)

UNIT-1I
Design logic circuit to perform AND, OR and NOT
operations using NAND gates only. 3

Simplify the following using K-map and implement
using NOR gates only :

AA.B,C, D)= Y,0.2,4810,12)+ Y (L,711). (5
1 [

S. (a) Discuss postulates of Boolean Algebra. 5
(b) Define and discuss XOR gate. 3
UNIT-III
6. (a) Define and discuss :
(i) Fan-in
(1) Propagation Delay. (1¥2x2)
(b) Explain the operation of ECL OR/NOR gate. &)
7. (a) Discuss DCTL NOR gates. 4)
(b) Explain characteristics of Digital IC's. “)
UNIT-1V
8. Discuss TTL NAND gate with Totem-Pole output in detail.
&
9. (a) Explain the operation of CMOS NOR. @
(b) Discuss Fan-out of CMOS Logic gates. 4)
792/3,000/KD/287 2
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GSE/D-16 792

ELECTRONICS
(Digital Electronics — I)
Paper-11
(Theory)
Time : Three Hours] [Maximum Marks : 40

Note : Attempt five questions in all, selecting one question from
each Unit. Question No. 1 is compulsory.

Compulsory Question
1. (a) Define Parity bit and explain its applications.
(b) Show that Distributive Law holds good in Binary
Number System.
(c) What do you mean by Noise Margin ? Why it should

be large ?
(d) Why ECL gates are fastest ? (2x4)
UNIT-I
2. (a) Convert (33),, into Binary, Octal and Hexadecimal
Number System. 3)
(b) Discuss ASCII codes in detail. &)

3. (a) Add (25),, and (16),, using 2's Complement method.
(3)
(b) Discuss Sequential Codes using suitable example.  (5)

792/3,000/KD/287 [PTO.



(b)

(b)

6. (a)

(b)

(b)

8. (a
(b)

UNIT-1I
Define Software and its types. Differentiate between
Application and System software. 3(5)
Write note on the major parts of Motherboard. 2(3)

Define Operating system, and prove how it works as
Resource manager. ,

Write notes on the following :

(1)  Multiprogramming vs. Multiprocessing.

(i)  Real Time vs. Time Sharing. 5(8)

UNIT-III
Define Algorithm, and write an algorithm to find
average of any 10 numbers.
Make Decision Table to find layout of 3 numbers.

5(8)

Discuss Errors and types of errors in Programming.
Discuss Top-Down and Bottom-up approach in

Programming. 5(8)
UNIT-1V

Explain Bubble Sort.

Discuss Binary Search. 5(8)

9. Write notes on the following :

(a) Machine Language vs. Assembly Language.

(b) Compiler vs. Interpreter.

(c) HLL ws. LLL. 5(8)
793/8,700/KD/288 2
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GSE/D-16 793

COMPUTER SCIENCE
(Computer and Programming Fundamentals)
Paper—I

B.A. :25

[Maximum Marks :
B.Sc.: 40

Time : Three Hours]

Note : Attempt five question in all. Question No. 1 is compulsory.
Select one question from each unit.

Compulsory Question
1. (a) Name one Sequential and one Direct Access

device. 1(1)
(b) Define Hardware and Software. 1(2)
(c) Write symbols used in flow chart for Decision-making,
Read, Stop and Processing. 1(2)
(d) What is Flash Memory. 1(1)
(e) Differentiate ROM and RAM. 1(2)
5(8)
UNIT-I
2. Make a block diagram of Computer, and explain its
essential parts. 5(8)

3. (a) Define Memory and its types.
(b) Write note on Magnetic Disk and its working. 5(8)

793/8,700/KD/288 [PTO.
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GSE/D-16 794
COMPUTER SCIENCE
(PC Software)
Paper-I1
B.Sc. : 40
Time : Three Hours] [Maximum Marks : ¢
B.A. :25

Note : (i) Attempt five questions in all.
(ii) Question No. 1 is compulsory.
(iii) Select one question from each unit.
(iv) All questions carry equal marks.

Compulsory Question
1. (a) What do you mean by Windows clipboard ?
(b) Write the steps to change the Date/Time of your system.
(c) What do you mean by Office Automation ?
(d) Distinguish between Relative and Absolute references

in Excel.
UNIT-I
2. Write short notes on the following Windows accessories :
(a) Paint.

(b) Word Pad.
(¢) Sound Recorder.
(d) Windows Media Player.

794/8,600/KD/289 [PT.O.



(b)

(b)

5. (a)

(b)

(@)
®)
(©

What is Wallpaper ? Write steps to change the wallpaper
of the Desktop.

What is the purpose of Start button ? Explain various
options under Start menu.

UNIT-1I
What do you mean by Style in MS-Word ? Write the
steps to create a new style.

Explain various steps to add a Header and Footer in
your document.

What do you mean by Auto-Fit in MS-Word ? Write
various steps to use Auto-Fit feature in your document.

Write the steps to create and use a Mcro in MS-Word.

UNIT-111
6. Explain following functions by using example :
AVERAGE()
SQRT()
IFO
ROUND().

(d)

7. (a)

(b)

Explain validation features in MS-Excel by using
example.

What is Data Table ? Explain steps to create the
one-variable data table by using suitable example.

794/8,600/KD/289 2

UNIT-1V
8. (a) Write steps to add ClipArt in your presentation.
(b) Write steps to insert a chart in your presentation.
9. (a) Write steps to insert in-built sound effect in a slide.
(b) What do you mean by Animation ? Explain steps to
apply Custom animation effects.
794/8,600/KD/289 3
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GSE/D-16 795
COMPUTER APPLICATIONS
(Fundamentals of Computer & Window Operating System)
Paper-1

Time : Three Hours] [Maximum Marks : 40

Note : Attempt five questions in all. Question No. 1 is compulsory.

Select one question from each unit.

Compulsory Question

1. () Explain the limitations of computer. (2)
(i) What is Digitizer ? )

(iii) Differentiate between Primary memory & Secondary
memory. )

(iv) Define Seek time & Latency time. 2

(v) Define Operating system. (D)

UNIT-1

2. (a) What are the differences between Analog & Digital
computers ? 3)

(b) Draw a block diagram to illustrate the basic components
of a computer system, and also explain the functions

of various units. 5

795/2,600/KD/290 [PT.O.



(a)

(b)

Convert the following :

i) (127.54)s > ( )
(i)  (1245.32)0 = ( g (3)
Write short notes on ASCII and EBCDIC code. 5

UNIT-1I

What are Data scanning devices ? Explain how they help in

improving input data accuracy as compared to keyboard

devices. 8

What is an Output device ? Explain the following output

devices :

(1) Dot Matrix Printer.

(i) Laser W&Eaﬁ

(iii) Plotter. (1+242+3)

UNIT-MI

(a) Explain RAM and various types of RAM. 4

(b) Write short note on CPU Registers. @

(a) Distinguish between a sequential access, a direct access
and a random access storage device. )

(b) Explain Magnetic Tape. Also write advantages and

disadvantages of Magnetic Tape. (6)

795/2,600/KD/290 2

UNIT-IV

8. (a) Explain various functions performed by Operating

system. @

(b) Write short note on Desktop. @)

9. (a) What are the various features of Window ? @

(b) Write short note on Control Panel. “)
795/2,600/KD/290 3
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Note :

1.

No. . Total Pages : 3

GSE/D-16 796

COMPUTER APPLICATIONS
(Office Automation Tools)
Paper : I

Three Hours] [Maximum Marks : 40

Question No. 1 is compulsory. In addition to compulsory
question, attempt four more questions, selecting one
question from each Unit.

Compulsory Question
(i) What is default name assigned to a new presentation ?
(i) What is default name assigned to a new workbook ?
(iii) What do you mean by Autotext option in word ?
(iv) How can you freeze rows and columns in a worksheet ?
(v) What do you mean by MID function in Excel ?
(vi) State four types of charts available in Excel.
(vii) What do you mean by Transition effect in PowerPoint ?
(viii)) Why we need Mailmerge ? (1x8=8)

UNIT-1
Explain the following terms related to PowerPoint :
(i) Slide Sorter View
(i) Animating an Object
(iii) Rehearse Timing
@iv) Slide View. (2x4=8)

796/2,600/KD/291 [PTO.



(a) Write steps to perform following PowerPoint activities :
(1) Insertng recorded sound effect.
(i) Inserting video clips.
(b) Briefly describe various features of Outlook Express.
(4+4=8)

UNIT-I

Explain the following terms related to MS-Word :
(1) Inserting Symbols.
(i)) Spell Check.
(iii) Mailing Labels.
(iv) Thesaurus. (2x4=8)
(a) Distinguish between the following :

(i) Footers and Footnotes.

(ii) Save and Save As. (2x2=4)
(b) Write steps to perform following in MS-Word :

(i) Create a table.

(ii) Insert headers and footers. (2x2=4)

UNIT-III

Write steps to perform following Excel activities :
(i) Renaming a Worksheet in a Workbook.
(i) Splitting Excel Window.
(1iii) Rotating text in a Cell.
(iv) Applying Autofill Option. (2x4=8)
Explain the following terms related to Excel :
(i) AutoFormat
(i) AutoFilter
(iii) Macros

(iv) AutoSum. (2x4=8)

796/2,600/KD/291 2

UNIT-1V
8. (a) Briefly describe the following Excel functions giving
suitable examples :
i MOD
(i) REPT
(i) FLOOR
(iv) NOW.
(b) Distinguish between SUM and SUMIF function.
(6+2=8)
9. (a) Brefly describe the following chart elements :
@) Origin
(i) Legend.
(b) What are basic rules for creating chart with Chart
Wizard ?
(c) Is it possible to change chart type of an existing chart ?
If yes, how ? (3+3+2=8)
796/2,600/KD/291 3
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3. Describe the major discoveries which made genetic
engineering possible.

GSE/D-16 799

4. Write short notes on the following : BIOTECHNOLOGY

(a) Hybridoma technology. (Introduction to Biotechnology)

(b) DNA finger printing. Paper : I

UNIT-1I Time : Three Hours] [Maximum Marks : 40

S. Write short notes on Application of Biotechnology in

(a) Agriculture. | Note : Attempt five questions in all, selecting two questions from

(b) Pharmaceutical industry. each Unit and Question No. 1 is compulsory.
6. (a) Explain safety guidelines for release of genetically Compulsory Question

modified organism. 1. (a) Write brief notes on the following :

(b) Write a short note on Ethics in Biotechnology. () Bioremediation

7.  Write short notes on the following : iy Apoptosis.
Embryo Transfer Technology.

(a) Biotechnology in waste water treatment. (iii)
(b) Biotechnology Research in India. (iv)  Solid-state Fermentation.

(v)  Somatic Hybridization.

(vi) Patent.

(vii) Proteome. (1x7)

(b) Who coined the term Biotechnology. 1

UNIT-I
2. (a) Give basic requirements for establishing animal cell
culture laboratory.
(b) Define Biotechnology and give its scope.

799/3,400/KD/294 2 799/3,400/KD/294 [PTO.



Write short notes on the following :
(i) Peptide bond.

(ii) Heteropolysaccharides. (2x2=4)

(b) Define Polysaccharides. Describe their biological
significance. : 4
4. (a) Give structures of the following
(1) Galactose.
(i) Glutamic acid.
(iii) Lactose.
(iv) Sucrose. (1x4=4)
(b) Briefly discuss important features of biomolecules. 4
UNIT-1I
5. (a) Differentiate between DNA and RNA. Briefly discuss
different types of RNA molecules found in the
living cell. 4
(b) Briefly discuss any rwo methods employed for amino
acid sequencing of a protein molecule. 4
6. (a) Classify proteins on the basis of their structure and
function. 4
(b) Define Lipids. Differentiate between Saturated and
Unsaturated fatty acids. 4
7. (a) Explain the double helical structure of a DNA molecule.
Differentiate between A, B and Z-DNA. 4
(b) Write short notes on the following :
(i)  o-helix and B-pleats.
(i) Forces stabilizing protein structures.  (2x2=4)
800/3,400/KD/295 2
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GSE/D-16 800

BIOTECHNOLOGY
(Biochemistry-T)
Paper-I1

[Maximum Marks : 40

Note : Attempt five questions in all. Question No. 1 is compulsory.
Select two questions from each unit. All questions carry

equal marks.

1. (@)

(b)
©
(d
(e)
®
(g)
(h)

2. (a

(b)

Compulsory Question .
Write down the names of four nitrogenous bases of
DNA.
Give full forms of NAD and TAG.
What are Essential fatty acids ?
Give names of any fwo aeromatic amino acids.
What are Zwitterions ?
Write down the structure of Glucose and Lactose.
Define Monosaccharides.

Define T value. (1x8=8)
UNIT-1

Define Amino acids. Briefly describe the chemical

properties of amino acids. 4

Define Monosaccharides. Discuss different families of
monosaccharides giving suitable examples. 4

800/3,400/KD/295 [PTO.
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OGSE/D-16 819

CHEMISTRY
(Inorganic Chemistry)
Paper — I, CH-101

Time : Three Hours] [Maximum Marks : 27

Note : Attempt five questions in all, selecting at least two questions
from each section.

SECTION-A
1. (a) Calculate uncertainty in velocity of an electron if
uncertainty in position is 1 A.
Given m = 9.1 x 1073 kg,
h =66 x 103 kg m? s, 2
(b) Explain Hund's rule of maximum multiplicity. 2

(¢c) Calculate number of unpaired electrons in
Ni*? (Z = 28). 1

2. (a) Draw shapes of 1s and 2s orbitals. What is the basic
difference between their shapes ? 2

(b) What do you mean by Radial and Angular wave
functions ? 2
(¢) An electron is present in 3d orbital. Write down the
possible values of n, [, m, s. 12
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(b)

(©)

(b)

(©)

5. (a)
(®)
(©)

(b)

(c)

How does atomic size change on moving down the
group in the periodic table ? 2

Why lonisation energy of noble gases are very high
whereas their electron affinity are zero ? 2

What are Inner transition elements ? Write down
electronic configuration of d-block elements. 1v2

Discuss Mulliken scale of electronegativity. Give its
disadvantages. 2

What do you understand by Successive ionisation
energies ? 2

How does Electron affinity differ from Electro-
negativity ? 1v2

SECTION-B
What are the postulates of VSEPR Theory ? 2
Discuss structure of SF, on the basis of hybridisation. 2

What are the limitations of VB Theory ? 12

What are the conditions for atomic orbitals to form
molecular orbitals ? 2
Draw molecular orbital energy level diagram for Nitric
oxide 'NO' molecule. Calculate its bond order. 2
Calculate Percentage Ionic character of HBr molecule
from the following data :

Bond distance = 1.41A, Dipole moment = 0.78 D.
1V2

819/1,700/KD/195 2

7. (a) Draw neat diagram and discuss structure of Sodium

chloride. 2

(b) Write note on p-type semiconductors. 2

(¢) Why Li,CO, is unstable while Na,CO, is quite

stable ? 1v2

8. (a) Write down Fajan's rules. 2

(b) What are Frenkel defects ? 2

(¢) Why Silver halides are insoluble in water ? 112
819/1,700/KD/195 3



SECTION-B

5. (a) Explain Surface Tension. Describe one method for the
determination of Surface Tension. 2Vs
(b) What is Boiling Point ? Why the Boiling point of
water changes in Pressure cooker and cooking becomes
fast ? 214
6. (a) Derive Bragg's equation for X-Ray diffraction in crystals.
3
(b) At what angles will X-Rays of wavelength
1.542 x 107" m undergo First order and
Second order reflections by planes separated by
35x 10719 m? 2Ya
7. (a) Define and explain the following :
(1)  Viscosity.
(i)  Optical Relation.
(ii1)  Heat of Vaporisation.
(iv)  Surface Tension
(v) Boyle's Temperature. pi%)
(b) What is Principles of Liquid Crystals Display (L.C.D.) ?
Give their types and uses. 3
8. (a) Define and explain with example :
(i)  Plane of Symmetry.
(i)  Axis of Symmetry.
(iti) Centre of Symmetry. 1x3
(b) Explain the Law of rational Indices. 2
820/1,700/KD/196 2

Roll No.

Time : Three Hours]

....................... Total Pages : 2
OGSE/D-16 820

CHEMISTRY
(Physical Chemistry)
Paper — 1I

[Maximum Marks : 26

Note : Attempt five questions in all, selecting at least two questions
from each Section.

1. (a)
(b)
2. (a)
(b)
3. (a)
(b)
4. (a)
(b)

SECTION-A
Explain the terms :
Collision diameter, collision number and mean free
path. 2Y5
Calculate the Root mean square velocity, Average
velocity and most Probable velocity of CO, at 37°C. 3

Using Vander Waal's equation, derive an expression
for Boyle's temperature in terms of Vander Waal's

constants. 3
Prove that V_ = 3b. 2

Give and Explain Cinde's method for liquefaction of
gases. 2V5
Given that the Vander Waal's constant for 1 gm CO,
are a = 3.609 x 10% and b = 42.75 (volume in ml
and Pressure in Atm.). Calculate the value of critical
constants. 3

Derive the relationship between Vander Waal and Critical
constants. 3
What do you understand by continuity of state ? 2

820/1,700/KD/196 [PT.O.



Roll No. oo Total Pages : 3

OGSE/D-16 821
CHEMISTRY
[Organic Chemistry (Theory)]
Paper-III
Time : Three Hours] [Maximum Marks ; 27

Note : Attempt five questions in all, selecting at least rwo questions
from each section.

(b)
(©)
(b)
(©)

u.‘ (a)
(b)

©

SECTION-A
What is delocalized chemical bond ? Explain with
suitable example. 2
Define Van der Waals interactions. Give their types. 2
Explain the cause of low reactivity of Vinyl halides. 1V4

Define the groups having I effect. Give examples. 2
What are the differences between Inductive and
Electromeric effects ? 2
What is meant by Plane of symmetry ? 1v2

What are Functional isomers ? Give two examples. 2
Assign R and S configuration to the following :

i Br

o 7" G  cHy-c-coon 2
CH, &

Give the properties of Enantiomers. 12

821/1,700/KD/197 [PTO.



4. (a) Omwlﬂmwnomlﬁmw shows geometrical isomers,
whereas Omwlﬁmwlomnmumm does not show geometrical
isomers. Explain. 2

(b) Assign E and Z configuration to the following :

H
C=cC
Ov Omu J /H

Br CH,4
@  Sc=c 2
17 N1
(c) What are Axial and Equitorial bonds ? 112
SECTION-B
S. (a) What does half-headed and double-headed arrows
represent ? 2
(b) Define Electrophiles. Give their types. 2
(c) Identify free radicals out of the following :
() NH, Gy Ci1
(ii) CH, (ivy H,0
(v) OH (vi) Br.

6. (a) What are (i) Addition reaction, and (ii) Elimination
reactions ? 2

+
(b) Explain the structure of Methyl carbocation (CH3). 2

(¢) What are the differences between Singlet and Triplet
carbenes ? 12

821/1,700/KD/197 2

7. (a) Complete the reactions :

(i)  2CH,CI + 2Na _Drether 5,

(i) CH,COONa + NaOH —L0 949 2

(b) Define Primary and Secondary carbon atoms in alkanes
with suitable examples. 2
(c) Calculate the percentage of n-butyl bromide and
sec-butyl bromide formed by monobromination of
n-butane. (Reactivity in bromination is 1600 : 82 : 1
for 3° 2° 1° hydrogens) 1Y%

8. (a) Write IUPAC names of the following compounds :

D

() CHy-CH - CH-CH,
CH, CH,
(ii) 2

(b) What are the main postulates of Baeyer’s Strain
theory ? 2
(c) How will you prepare cycloalkanes using calcium

salts of dicarboxylic acids ? 1V4

821/1,700/KD/197 3



UNIT-1IV Roll No. .o, Total Pages : 4
8. "A healthy mind resides in health body." Explain.
‘e TR ¥ @ wRy T FreEm e %1 R ook GSE/D-16 836
F . HYGIENE AND PROMOTIVE HEALTH

(Course No. 102)
9. Why is it essential to have periodic health check-up of

children in schools ? Explain in detail. Time : Three Hours] [Maximum Marks : 40
el W ogwEl % oafus wWRem w1 Wie FE w4

. Note : Attempt five questions in all. Question No. 1 is compulsory.
Havgw T 2 famga wmew ptfive q Q pHisoLy

Select one question from each unit. All questions carry
equal marks.

e Juw yEF AFEE B we ofe W w5 T R Y 9
FA-U-F7 T W99 @79 [ aft 7o & ofF o &

Compulsory Question
(A wv)
1. Define and explain any eight of the following :
frefafen 4 @ &= e+ uftaifm = qen wwemey .

(1) Incubation Period.

EECE]
(i) Habit.
SEG]
(iif) Sleep.
frzm
(iv) Physical Health.
IfE e

836/450/KD/202 4 _ 836/450/KD/202 [PTO.



836/450/KD/202 2

(v) U.mmwn:omm.

&I 4.
(vi) Positive Health.

HhR[cHh |
(vii) Polio Drops.

gife=r =1 T . . o
5. How the disease Cholera is spread ? Give its symptoms,
(viii) Dengue. mode of spread, prevention and treatment.
2T T fFO TER BAd § 7 IO AU, Bae, JRUM,
(ix) Tuberculosis. Fo IR F W_ﬂm SEE § 2
JeTHT|
(x) Periodic health check-up. UNIT-I1 (ZehmE-100)
smafs wWRem S| 6. What is Immunity. Classify immunity and give Vaccination
schedule for human life.
UNIT-I (3&T1E-1) T RYE gwa w T 2 W FRYE &ma w1 S
Describe in detail the mode of spread, symptoms, prevention AN qeN WA S & A T w1 oSgEe TR
and treatment of disease spread by insect bite, i.e., Malaria. Exdl
TR % HRA W B 9 W WA & hed & 2,
ST, TUE A SR F frew e X 7. Write short :.98 on mmv\ two of the following : .
frafafes 4 8§ f&ff @ m dferg feooft &Y .
Describe the causes, mode of spread, prevention and @ WHO.
o TS T AL
treatment of Measles occurring in children.
. . . . ii) Physical Health.
T 4 A A A @R B w, S @ @, we, (1) Physical Hea
RER I STER ® fowm wHeR 3 |
= _ (iii) National Health Programmes.
TG TRed  HIAHH|
836/450/KD/202 3 [PT.O.

UNIT-II (3&T3-10)
What are the various causes, mode of spread, prevention
and treatment of Leprosy ?

FE W (FG) F FAU, BoE, JFUH qA ITER
FH-FH § T ?




Roll No. e Total Pages : 3

GSE/D-16 837

INTRODUCTION TO TEXTILES
Paper : Course No.—103

Time : Three Hours] [Maximum Marks : 40

Note : Attempt five questions in all, selecting rwo questions from
each unit as well as compulsory question.

Az AFEE T B T, O SFE o Y w9 w5
T, FA U WA B I T

Compulsory Question
( famd uwT)

1. Write short notes on the following : 8
(a) Natural Fibres.
(b) Yarn Count.
(c) Kanitting.
(d) Bonding.
=1 w wfarm feooft fafem .
(F) WFfaw [
(@) urt &1 i

(M) TR

(%) d¥F A

837/450/KD/219/Trans. [PT.O.



UNIT-I (3=T8-1) 7.

2. What is Fibre ? Explain its classification. 8

W[/ w0 B2 TS T H GHEu

3. Explain the manufacturing process of Cotton in detail. 8

FoE & Fmw # ufEe w1 faar ¥ geem

4. Differentiate between the properties of :
(a) Cotton and Wool.
(b) Silk and Nylon. 8

=1 = o ® fe om ww Wi
(31) FUM I FA
(7)) foew iR et

5. How the Synthetic fibres are important to the consumer ?

Write in detail. 8

mew % fau Fhm W #9 meay €2 fawr @ fafew

UNIT-1I ( Fat3-11)

6. Explain various methods of Spinning in detail. 8

Fare ! fafa= fafus = famr @ 99w

Write short notes on the following :
(a) Yarn Twist.

(b) Crimp.

frafafen w dfaa feaeft fafen -
(37) grn A

(%) forfem

What is Weaving ? Explain its type.
T #7022 WH THFR F gEems

Differentiate between :

(a) Felting and Braiding.

(b) Plain Weave and Twill Weave.
= = d9 fq T Sifsw .
(31) wieen (wE) dwn sfem

(F) 9 AR qAq TEA RN

837/450/KD/219 2 837/00/KD/219 3



9. Write in brief about the following :
(a) Food Supplementation.

(b) Microwave Cooking.
frafefed =1 ga9 7 3w S .
() SF @™ TR

(4) HEHEE g @ S

838/450/KD/220 4

(4x2=R8)

Roll No. v, Total Pages : 4

GSE/D-16 838

FOOD SCIENCE
Paper : Course No. 104

Time : Three Hours] [Maximum Marks : 40

Note : Attempt five questions in all, selecting at least two questions
from each unit. Question No. 1 is compulsory. All

questions carry equal marks.

e : TOF TR A U FH-9-F9 F WA T4 gL, T Ui
WA HIC Y HeN T AfEE 21 9l ue @ o
A

Compulsory Question
(tFEmE g
1. Answer the following in 3-5 lines :
Hae 3-5 dfeEl ® I A
(i) Balanced Diet.
T SR
(i) Saffron.
FHHT
(i) Mutual Supplementation.
AT STF  IERI
(iv) Effect of Soaking treatment on Food grains.
IS T A R PRI w1 gemE)

838/450/KD/220 [PTO.



(v) Classification of Fruits.
Hell H1 ROl Fife
(vi) Egg Protein.
FUE H UE G A WAl
(vii) Caramelization of Sugar.
= 1 AT (T ) |
(viii) What is Fortification ?

difies e FfifERTE R wed € 2

(1x8=8)

UNIT-I (3&E-1)
Classify FOOD into various groups based on its nutritional
contribution. 8

difies IFER % oMR W 9y warel W fafi Tl |
it i)

Discuss the nutritional contribution of pulses to the
Diet. 8

Tl w1 AR e § e difiew drem 2, fawga o
Fifs

Describe the following :
frafafea =1 ol wifsg .
(a) Nutritive value of Fish.
TSelt ® e ¥ diftes o
(b) Parboiling of Rice.
oEd Hl Y& (Parboiling) |

(4x2=8)

838/450/KD/220 2

5. Answer the following :

frafafag =1 s S .
(a) Toxic constituents of Pulses and how these can be
destroyed ?
T § U I g eTdfied 9w @ 3R Y TR
fopan men ® 2
(b) Different types of Processed Milk. (4x2=8)
fofg= w#r = wHERd 3yl
UNIT-H (Z&iE-1I)

6. Explain the effect of cooking on nutritive value of
carbohydrates and proteins. 8
FEN @ WeH | TFH F a9 fFaet ® vgs 9
Y9E W A FN)

7. Describe the advantages and disadvantages of any three
methods of cooking in which moist heat is used. 8
T 9 R w R dw ol % e @ wite sfea
ol wifse fomd Tt @ 9 g =@ 99 S R

8. How nutritive value of foods can be improved by using the
method of Fermentation ? Discuss about various fermented
products. 8
AR U A Tl % dfied 7@ B dem W
THd ¥ 7 fafym =iled wm uwel w1 avl @i

838/450/KD/220 3 [PT.O.



9. (a) Write a note on composition and uses of paints. 3

(b) Write chemical composition and uses of creams and Roll NO. .cooeiiiiiiiiieenn Total Pages : 6
shampoo. 3

(¢c) Write any two uses of varnishes. 2 GSE/D-16 mu @
(30) ¥em & e oiR sTEM W TE He HOME SCIENCE

s (Introductory Chemistry)
F) B TaEtE =T o Fr
(%) &ﬂw kil 3 _ Paper : Course No - 105
(W) =i & g & ITEN T

Time : Three Hours] [Maximum Marks : 40

Note : Question No. 1 is compulsory. Attempt five questions in
all, selecting at least nvo questions from each Unit as well

as compulsory question.

= : uw wom | afEE § UeE R § ¥ FE-8-FE @
gl o1 T F@ U, e g afed w9 e wed
sl

Compulsory Question
(a9 )
1. (a) Calculate the No. of moles present in 4.0 gm of NaOH.
2

(b) Calculate atomic mass of Na (Given : No. of

electrons = 11. protons = 11 and neutrons = 12 in

sodium). 2
(c) Write the chemical formula of butan-2-ol. 2
839/450/KD/221 6 (d) Write the main components of talcum powder. 2

839/450/KD/221 [PT.O.



(31) I HIFE T 4.0 TH NaOH T Tof 57 T foret
B

(%) Na i T Fen 7 #fd (sorweh =1 e 11,
WS F 11, @R =R 12 @)

(W) =2F-2-3a 1 Tamafe g7 ford)

() T TR * T weF oQ)

UNIT-I (3ohTE-1)
(a) If pH of a solution is 4.2. tell whether it is acidic or
basic. 2.5

(b) Either molarity or normality of sulphuric acid is same
or different. Why ? 3

<

(1) af< f5eft It #1 pH 4.2 & @ =AC 3 smferm &
g ?

(F) 1 FeEF o7 #1 A iR e Tum @ s
TR 7, A= 7

(W) 99 yfawm ! T SERw B Wy i FRE

(c) Define mass percentage with suitable example. 2.5

(@) According to Bohr's model of an atom
(i) What are orbits ?
(i)  Whether energy of orbits is continuous ? 3
(b) According to modern periodic table, which atom has
lowest atomic weight ? 1.5
(c) Write a note on modern periodic table in terms of
groups, periods, atomic Nos. and atomic weight. 3.5

839/450/KD/221 2

(31) I & Hiew F FIAR
() ifdem == @ 2
() T T F AR B 2

(%) wed frafes qrof § fRg WA B AR R
F9 2|

(W) 79, G, W dem, s WA 9 H e o
@ gu, "ed fuwfes wof | e fa

4. (a) Write electronic configuration of Oxygen with atomic
No. 8 and Cl with atomic No. 17. 3
(b) Differentiate Ionic bond, Covalent bond and Co-ordinate
covalent bond. 4
(c) How many groups are present in modern periodic
table ? 1
(31) AT IR FARA F IOERE FIEIvH e
(ATl 3R ST &1 qE] gE %Ee: 8 3iR
17 ®)
() T, Praele IR Fi-30fERe FEee st H
igged
(9) Tzt frifes anoht # forad g9 & 2
5. (a) What is the pH of 103 molar HCl solution ? 2
(b) Define buffer solution with suitable example. 2.5
(c) What is the position of noble gases in periodic
table ? 1.5
(d) What are Lewis acids ? 2
839/450/KD/221 3 [P.TO.



(37) 103 HeR HCl S &t pH & B8t ?

(9) THT O T TH I H e gRefa Fifer
(W) et TG F e freifes groft § wm wE © 2
(7) wfor ot @ # 2

UNIT-II (3&TE-1D)
6. (a) What do you mean by Catenation property ? 2
(b) What do you mean by isomerism ? Give an example
of any type of isomerism ? 3
(c) In alkenes (C=C) there are two bonds in Carbon-
Carbon, name these two bonds and tell which is stronger
bond ? 3
(37) FAATA WIS § o9 ¥ GHE T ?
(q) EEMRET § o9 & 99e § 7 3T Hied S
(T) TwEE § FE-EET B a9 ¥ A wE A €
=@ W Fa¢ oK S fF FH-¥ AeeEE o ¥ 2
7. (a) What are aromatic compounds ? 1.5
(b) Write IUPAC name of following :
(i) H,C-CH=CH,
(i) H,C-CH,CO-CH,. 3
839/450/KD/221 4

(c) Name the functional group in following :
(i) H,C-CH,OH.
(i)  H,C-CH,COOH.
(i) C.H,. 3.5
(31) e Wi e ¥ 2
(7) frefafes & *m fafee -
(i) H,C-CH=CH,
(i) H,C-CH,CO-CH,.
() Frfafog § TREa 9 F W F@sh
(i) H,C-CH,OH.
(i) H,C-CH,COOH.
(i) C,H,.

(a) Is detergents are preferred over soaps ? Give
reasons. 3
(b) Write a short note on polyesters. 2.5

(c) What do you mean by cosmetics ? Give chemical

composition of perfumes. 3

(1) T feoste, TR | SO SwEn R W 2 RO
AT

(3) Wt W gE H fad

(W) HiEfam ¥ o =& gwEn § 2 WS S @A
faam wamEu

839/450/KD/221 5 [PTO.



.......... is a method of child study.

(a) Case Study
(b)  Photography
(c)  Biography
(d)  Telegraphy.
..................... T & AEEd W fafy R
(F) 9 =&
(@) WU
(M) ST
(%) <
840/450/KD/222 4

[\

Roll No. .eviverie, Total Pages : 4

GSE/D-16 840

HOME SCIENCE
(Introduction to Human Development)
Paper : Course No. 106

Time : Three Hours] [Maximum Marks : 40

Note : Attempt five questions in all, selecting two questions from

e :

each unit. Question No. 9 is compulsory. All questions
carry equal marks.

TOF THFE H 9 FI-H-F9 S W g9 T, H U
Y¥T HIWT U Tew 9 Afrer R meht wee # efw
A B

UNIT-1 (3&E-1)
Define 'Human Development' and what is the scope of
Human development? 8

‘e fam’ &1 qftafig Y 9 9me e & 83 =
g Fam ?

What is Development and explain principles of Human
Development ? 8

fawm 71 2 ? A fEm @ fogi ) = W

How Heredity and Environment are important in Human
Development ? 8

‘gre fowm’ § AUERER @ e w5 o TEe w2

840/450/KD/222 [PTO.



4. Discuss physical and emotional development of an (ii) Adolescence word is derived from : 2

Infant. 8 @  Adult
Ry = e 3 wAfaw fawm 51 smem #:12
(b)  Adolecere
UNIT-II Awﬂﬂlﬂv (c) Adolesome
5. Describe any rwo methods of Child Study. 8
A HeE w el d faRel @ el w (d)  None of them.
Adolescence ¥ &1 i mwv 2
6. Explain Old Age in Human Development. 8
e e § g% o ® v § A (F) Adult ¥

(@) Adolecere ¥
7. What are the factors which are responsible for Prenatal

Development. 8 ()  Adolesome 9
3 HH-U FRF € S THa-gd fow w5 g s ¥ 0

(F) T ¥ HE FE
8. Give characteristics of Early Childhood Stage. 8 (iii) At the time of birth, infant's length is ......... 2
i e ® faw g 2 (a) 45t0 45 cm
Compulsory Question (b) 7275 cm
9. Objective Types Questions : (¢) 10-12 cm

(i) Babbling starts at the age of ............... month. 2

(a) 6-8 month (d 90-100 cm.

(b)  2-3 month I % GET T=9 B TAEE .. e BRT R
(¢) 4-5 month

(d)  0-2 month. (F) 45-50 M.

T TTAN TE FC R v, o4 H (@) 72-75 I

(F) 6-8 T

(@) 2-3 #99 () 10-12 9=

(M 4-5 79 () 90-100 ¥H.|

(7)) 0-2 wHH

840/450/KD/222 2 840/450/KD/222 3 [PT.O.



Roll No. ......... creerraeenaes Total Pages : 2

BCA/D-16 853

COMPUTER AND PROGRAMING FUNDAMENTALS
Paper : BCA-III
Time : Three Hours] [Maximum Marks : 80

Note : Attempt five questions in all. Question No. 1 is compulsory.
Select one question from each unit.

Compulsory Question
1. (a) Differentiate between Primary and Secondary Memory.
(b) What are the symbols used for Input, Decision,
Processing, Start in Flow-chart ?
(c) Differentiate between Machine Language and Assembly
Language.
(d) Define Computer, Interpreter and their difference.
(4x4=16)

UNIT-I
2. Explain the block diagram of Computer and its essential
parts. 16

3. (a) What is Primary Memory ? Discuss types of Primary

Memory.
(b) Write the working of Magnetic Disk. 16

853/4,000/KD/226 [PT.O.

UNIT-II
4. (a) Define Software and types of software.
(b) Define Operating system and differentiate between

Single User and Multi-user Operating system. 16

5. Write notes on the following :
(a) Multiprogramming vs. Multiprocessing.
(b) Real Time vs. Time Sharing Operating system. 16

UNIT-III
6. (a) What is Debugging ? Discuss the various types of
Errors.
(b) Discuss Programming Methodologies. 16

7. (a) Make a Flow-chart to find average of 10 numbers.

(b) Write an Algorithm to search an element. 16

UNIT-1V
8. What is Sorting ? Discuss Selection and Bubble Sort with

example. 16

9. Write notes on the following :
(a) HLL and LLL.
(b) Characteristics of a good Programming Language.

16

853/4,000/KD/226 2



Roll No. v, Total Pages : 3

BCA/D-16 854

WINDOWS AND PC SOFTWARE
Paper : BCA-112

Time : Three Hours] [Maximum Marks : 80

Note : Attempt five questions in all, selecting one question from
each unit in addition to Question No. 1 which is
compulsory.

Compulsory Question
1. Attempt all the following questions :
(i) . Recycle Bin.
(i)  Taskbar.
(i) DVD.
(iv) Expand WYSIWYG.
(v)  Disk Defragmentation.

>

(vi) Formula Bar.
(vii) Workbook.
(viii) Pivot Chart. (2x8)

UNIT-1
2. Explain the following :
(1) My Computer and My Documents.
(i)  Media players and Volume control.
(i) GUI and CUL
(iv) CD and Pen Drive. (4x4)

854/3,600/KD/227 [PT.O.



3. (a) What is Windows ? What are various hardware and
software requirements for installing windows ? 8
(b) Explain steps of coping, deleting and renaming of
any file. 8
UNIT-I1
4. Explain the following with concern to window operating
system :
(1)  Sharing Folders and Drives.
(i) Scandisk and Disk Cleanup.
(iii) Changing user password.
(iv) Using Scanner and Web Camera. (4x4)
5. (a) What is control panel ? Explain various steps to Add/
Romove programs. 8
(b) What is Window update ? Explain the importance and
steps of updating Windows. 8
UNIT-III
6. (a) What is Worksheet ? Explain steps of insert, delete and
rename a worksheet. 8
(b) What is Range ? Explain with example. 8
7. (a) Explain various methods of inserting, deleting and
hiding a rows & columns from a worksheet by giving
suitable example. 12
(b) Explain cell formatting in detail. 4

854/3,600/KD/227 2

UNIT-IV

8. (a) What is cell reference ? Explain absolute and relative

cell reference. 8

(b) What is Function ? Explain any four Mathematical/

Statistical functions. 8

9. (a) What is Macro ? Describe various steps of record and

run of Macro. 8

(b) Explain the steps of creating charts in Excel. 8
854/3,600/KD/227 3
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BCA/D-16 855

MATHEMATICAL FOUNDATION -1
Paper : BCA-113

Time : Three Hours] . [Maximum Marks : 80

Note : Attempt five questions in all. Select one question from
each section in addition to Question No. 1 which is

compulsory.

Compulsory Question
1. (a) Prove that the following sets are equal :
Set A={x:x-5=0)

Set B = {x : x is a positive integral root of
x2 - 2x -15 = 0}. 3
(b) Define Supremum and Infimum of a set. 3

3 sin 8 —sin 360

Lt 4,
(¢) Prove that ol o 3
2bt al-t%) o . dy
(d If y=  x= , find —. 4
TR 1+12 dx
(e) Find the value of n if
"p P =901, 3

855/4,700/KD/228 [PTO.



(b)

(b)

(b)

5. (a)

(b)

SECTION-I
A survey shows that 63% of Indians like cheese whereas
76% like apples. If x% of Indians like both cheese and
apples, find the value of x. 8

Define Boolean Algebra as an algebraic structure. 8

(i)  How many different numbers of six digits can

be formed with the digits 3, 1,7, 0,9, 5 ? 8
(i) How many of them are divisible by 10 ? 8
A man has 7 friends. In how many ways can he invite

one or more of them to a party ? 8

SECTION-II
Find the value of g if function

2x-1, x<2

flx)=1a , x=2

x+1 , x>2
is continuous at x = 2. 8
It h m@ mENAa +y) g

sin y = x sin (a + y), prove that —— o sina
Find nth derivative of ¢* sin (bx + ¢). 8
dy log x
-y = -y -

If ¥ = ¢, prove that (1+log x)? 8

855/4,700/KD/228 2

SECTION-III

6. (a) Find Differential equation of family of curves
(x — h)* + (v — k)* = d?, where h and k are arbitrary
constants. 8

(b) Solve the Differential equation
D dxry+1 8
dx
dy 2.2
7. . (a) Solve — -2y tanx = y“ tan” x. 8
dx
(b) Verify that the Differential equation
(x* INQN +KJ &xt@amzlu\@w +siny)dy=0
is exact and hence solve it. 8
SECTION-1V
d*y d .
8. (a) Solve %.+&|lewnx+m5x. 8
b) Sol h..w@+ xe” sin x. 8
(b) Solve ) e y=
24y o dy
9. (a) Solve x 3 +mxu +13y=log x. 8
42y
(b) Solve (x+1)> == +Q+c Lwﬁésié 8
.H
855/4,700/KD/228 3
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BCA/D-16 856

LOGICAL ORGANISATION OF COMPUTER - I
Paper : BCA-114

Time : Three Hours] [Maximum Marks : 80

Note : Attempt any five questions. Question No. 1 is compulsory.
Attempt remaining four questions selecting one from each
unit. All questions carry equal marks.

Compulsory Question
1. () Explain Minterm.
(ii) Define Involution law of Boolean Algebra.
(iii) Prove Distributive law using Venn Diagram.
(iv) (1100.001), = (7).
(v) What is NAND gate ?
(vi) What is Combinational circuit ?
(vii) What is Multiplexer ?

(viii) Why computer system uses binary number system ?

(2x8=16)
UNIT-I
2. (1) What is Number system ? Explain two positional
number systems. 8
1) (FA) =My =M= MNg=Ns 8

856/4,300/KD/229 [PT.O.



(if)

)

(if)

@

(ii)

(@

(ii)

Discuss how negative numbers can be represented in

computer system. 8

Explain ASCII and EBCDIC Code. 8
UNIT-II

State De Morgan's Theorem and prove it. 8

Explain two Canonical forms of Boolean Expression
for a truth table of your choice. 8

Simplify the Boolean function 8

F(x, y, z, u) = 20, 2, 4, 6, 9, 13, 15) + 3(1, 3, 7)
¢

Examine the validity of following Boolean equation

XZ+YX+YZ = XZ+YX
and also draw circuit diagram of L.H.S. using

NAND gate. 8
UNIT-III

Simplify the following Boolean expression and

implement it using OR and AND gates : 8

Y = ABCD + ABCD+ABCD + ABCD
Explain the working of 3 input NAND gate. 8

Explain implementation of AND, OR, NOT gates by
NOR gate. 8

Prove that NAND gate is an universal gate. 8

856/4,300/KD/229 2

®)

(i)

(¥

(i)

UNIT-1V
Describe the design procedures of Combinational
circuit with an example. 8
What is Full Adder ? Explain it. Draw its logic diagram
by using Half Adder. 8

Explain and draw the logic diagram of decimal to BCD
encoder. 8
Design a 6 x 32 decoder with the help of 3 x 8 decorder.

8

856/4,300/KD/229 3
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BCA/D-16 858

PROGRAMMING IN 'C'
Paper : BCA-116

Time : Three Hours] [Maximum Marks : 80

Note : Attempt five questions in all. Question No. 1 is compulsory.
In addition to compulsory question, attempt four more
questions selecting one question from each Unit.

Compulsory Question
1. (1) [IQlustrate the rules for constructing variable names.
(i) Who developed 'C' language and in which year ?
(iii) Describe Comma operator with example.

(iv) Justify that go to statement can not be used to transfer
control from outside to inside the loop.

(v) What is purpose of break & continue statement ?

(vi) What two important conditions must be satisfied by
any recursive function ?

(vii) What happens when a variable is not initialized in main
function ?

(viii) What will be output when you execute following code :
# include < stdio.h >
void main ()
{ Char name [7] = "NETWORK"; print f ("%s", name);
}
(8x2=16)

858/4,400/KD/204 [PT.O.



UNIT-I

Explain getch (), getche ( ), getchar () and gets () functions
with example. 16

(a) Illustrate the importance of 'C' language. (8+8)

(b) What are escape sequences ? Write a program to output
message in double quotes.

UNIT-1I
(a) What is the purpose of if-else statement ? What are the
two different forms of if-else statement ? How they
differ ? Explain with example. (8+8)
(b) Write a program to find the largest among three
numbers.

Explain bitwise and unary operators available in 'C'. llustrate
the importance of bitwise operators with suitable example.
16

UNIT-III
(a) What is Parameter passing ? Explain, with example,
Parameter passing schemes supported by 'C'. (10+6)
(b) What is function prototype ? What is their purpose ?
Where within a program are function prototype
normally placed ?

Write a 'C' program to find sum & reverse of digits of a
positive integer using do ............ while control statement.
16

858/4,400/KD/204 2

8.

UNIT-1V
What does a storage classmean ? Describe the features of
different storage classes available in 'C'. 16

Write a program to check whether a given string is
palindrome or not. 16

858/4,400/KD/204 3



UNIT-II Roll No. v Total Pages : 2
4. Explain different categories of Software with examples. 16

OR OBCA/D-16 859
S.  What is Virus ? Explain various types of Computer
viruses. 16 COMPUTER & PROGRAMMING FUNDAMENTALS
Paper : BCA-III
UNIT-III
6. Draw and explain the various symbols used in Flowcharts. 16 Time : Three Hours] [Maximum Marks : 80
OR
7. What mm. a Programming Language ? What are the Note : Attempt five questions in all, selecting one question from
omm&oﬁ:m:S of a good Programming language ? Explain each unit in addition to compulsory Question No. 1.
different types of Programming languages. 16
UNIT=IV . Compulsory Question
8. Differentiate between Bubble sort, Selection sort and 1. (@ Whatis a Computer ?
Insertion sort. 16 (b) What is ROM ?
OR (c¢) Define the term "Software".
9. What is Computer Network ? Explain various types of (d) Define the term "Virus".
Network Topologies. 16 (¢) What is Debugging ?

() What is Machine Language ?
(g) Differentiate between Linear Search and Binary Search.

(h) What is Internet ? (2x8=16)
UNIT-I
2. Diagrammatically explain the functional units of a
Computer. 16
OR

3. Explain various types of Primary Memory Devices. 16

859/700/KD/205 2 859/700/KD/205 [PTO.



UNIT-1V
2
8. Eval he i 1 A_.F ki 12 G 1
. valuate the integra H 2213 taking n = (intervals)
using :
(a) Trapezoidal rule. 8
. 1
(b) Simpson's w& rule. 8
td
9. (a) Evaluate ol using Gaussian Quadrature formula.
X

1
8

(b) Derive Gaussian quadrature formula for integral

b
._.QN +x +1) dx for two points. 8

a

861/900/KD/844 4

Roll No. .cevveeirinnne , Total Pages : 4

OBCA/D-16 861

COMPUTER ORIENTED NUMERICAL METHODS
Paper : BCA-113

Time : Three Hours] [Maximum Marks : 80

Note : Attempt five questions in all. Question No. 1 is
compulsory. Select one question from each unit. All
questions carry equal marks.

Compulsory Question

1. (a) If V is backward difference operator then compute
V3fx). 3

(b) Write formula for trapezoide rule for function flx) in
interval [X,, X;] including error term. . 3

(¢) If ix) = x> — 2x + 3 = O, find the best approximated
initial value x to start Newton-Raphson method. 3

(d) Find the inverse of matrix

wn o -

e L

w O W
W

(e) Define Round off error and Truncation error with
example of each. 2

(f) Define a Lower triangular matrix and its importance.
2

861/900/KD/844 [P.T.O.



UNIT-I
2. (a) Find a real root of the equation flx) = x3 - 4x - 15=0
correct to 3 decimal places using Bisection method. 8
(b) Using Newton-Raphson method, find a real root of
equation fix) = x> = 5x+3 =0 upto 3 iterations. 8
3. (a) Define Order of Convergence. Find order of
convergence of False position method. 8
(b) Using Iterative method, find a real root of equation
f)=x2-3x+6=0. 8
UNIT-II
4. (a) Using Gauss Elimination method, solve the system of
equations :
X+y+z=6
3x+3y+4z=20
2x+y+3z=13. 8
(b) Solve the system of linear equations using Gauss-Seidal
method (carry out three iterations) :
6x + 15y +2z =72
27x+ 6y —-2z=285
X+ y+ 54z =110. 8
861/900/KD/844 2

(a) Using Euler's modified method, solve the differential

equation m@.n X - v\N with y(0) = 1
d dx T
Find y(0.1) and y(0.2) choosing h = 0.1. 8
: : , dy
(b) Using Taylor's series method, solve &Iuwvl'uw
X

y(0) = 0 to get y(0.1) and y (0.2) taking h = 0.1. 8

UNIT-III

(a) Using Lagrange Interpolation formula, find f(x) for
x = 15 for table

X 0 45 90
fo 0 7071 1.0

(b) Using Newton's Forward difference interpolation
formula for equal interval, find f(1925) for table :

Year : 1921 1931 1941 1951 1961
fixy 46 46 81 93 101
(a) Explain orthogonal properties of Chebyshev polynomial
of first kind. 8
(b) Using Taylor's series approximation, solve

qu 1+ xy*; y(0) = 1; to find ¥(0.2) taking & = 0.1.

861/900/KD/844 3 [P.T.O.



Roll No. ...cccceevrnnnen. . Total Pages : 3

OBCA/D-16 863

MATHEMATICS
(Mathematical Foundation-I)
Paper : BCA-115

Time : Three Hours] [Maximum Marks : 80

Note : Attempt five questions in all, selecting one question from
each unit in addition to Question No. 1 which is
compulsory.

1. (a) State whether A = B or not.
A={x:x2=16,xe N}; B = {-4}. 2
(b) Define Complete and Bounded lattice. 2

0

(c) Differentiate sin x* w.r.t. x. 2

(d) In how many ways can 52 playing cards be distributed

equally among four heaps ? 2
d’y 6y
(e) Solve Nx.wuﬂ 4
(® 1P, _,5P _ find r. 4
UNIT-I

2. (a) If R is an equivalence relation on a set A, show that
R is also an equivalence relation on A.

863/1,100/KD/408 [P.T.O.



(b)

Let D55 be the set of positive factors of 35. Two binary
operations ‘+’ and ‘.’ are defined as follows :

a+b=1cm(a, b) and 6.
ab=gcd. (a,b)V a,b,e D;;s.
. : ._35
An operation ‘,” on D5, is defined as a’'= M VaeD,, "
Show that (D35, +, ., ', 35) is Boolean Algebra.
3. (a) How many numbers greater than a million can be formed
with digits 2, 3,0, 3,4, 2,3 ?
(b) Provethat AN B)NC=A N (BN C). 8.
UNIT-II
4. (a) A function fis defined as follows :
xPcos 1/x when x#0
fx)=
0 when x=0. 9
What condition should be imposed on p such that f
may be continuous at x = 0 ?
(b)
dy
how that 2y -1)—=1,
show that (2y —1) I
2 2
(a) Differentiate tan™ ytrx -1 w.rt. sin™ lxn
X 1+x
) If y=€""*, prove that (1 - X2y, — xy; = m?y.
863/1,100/KD/408 2

(@

(b)

(a)
(b)

(a)

(b)

()

(b)

UNIT-111

Find the differential equation of the circles touching
the y-axis at the origin.

Solve e*(x — y) dx + x(1 + "% dy = 0.

Solve ydx — xdy + log x dx = 0.
Solve (2x%y — 3y*) dx + (323 + 2xy3) dy = 0.
UNIT-1V

Show that

1
D-«

Solve (D3 - 2D? - 5D + 6)y = &3*.

X=e* .—m-& X dx.

&N
Solve &aw —y=x"cosx.
2
Solve (1+ x)* w +(1+x) W+ y =4 cos (log (1- x)).

863/1,100/KD/408 3
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BSIT/D-16 12599
COMMUNICATION SKILLS-I
BSIT-101

.

ltme : Three Hours] [Maximum Marks : 30
Note :  Attempt all questions.

1. Answer the following questions : Hxl=9
{a) What is Informal Communication ?
{by Discuss ‘Interview’.
{¢c) What is a circular ?
(d) Comment on e-Mail Etiquettes
{2) Make a sentence from the following phrasal verb :

care for.

[ Q]

. {a) Give merits and demerits of oral and written
comnunicalion.

Or
What points should be kept in mind whiie

anpouncements over a Public Address Sysiemn 7

{hy Write short notes on aivy rwo of the follewing

broadeast




(b)

£

()

594

Write a detailed note on FAX,

Or

Differentiate among tables, chart and diagram. 3
Write short notes on
(i)  eMa
(11} Cell Phon
(111)

{1v)

any fwo of the following :
il
Film Strip

Cinema 1V2%x2=3

Fill 1 the blanks

.....honour to be here,

with appropriate articles -

1) He is studying m........University.

gifted his brother.............umbrella.
IxYo=iin

i of the verb given in brackets

vooten short of

required

(11j

~..for Delhi. (lea ave)

o

-
et e

late by ten minutes. (run)
37=1Y
Change the narration of the following sentences :

(i)  “Leave all this and go to college”, said his

mother.
(i1} Said said, “You are crazy.”
(i} The beggar said, “Pleasc give me moaﬂwm:m
1o eat.” IxVi=1Y,
2

n

(d)  Chunge the voice of the following sentences -
(i) This has been done by me.
child.

clared a holiday

(1) The teacher praised the

(i) The principal de IxYe=1%

Make a precis of the foliow ng passage
A stag .,Q-m:: 231000 peopie are killed m road accidents
nnted out in the latest
Safety, 2013

siiute a majority of the victims.

Y gvervy

Vedr. as o

Motorcyclists,

rate, the government is not
Rec

when five Indian

red aboul road

ently. India’s

road safetv were eaposed

the test condus the UK-based Global
C'av Aszessment Programimic. In India, manufactures

of zcars do wuot have in
test. Wha

105 that follow sz

their vehicles o any

<Mic crash

ven multinavonal car

5 in their home

fety non countrise

2 so while manu (e

iz curs in India in order

to veduce cost. Their stand

ard explanation is that they

in india. Actusily. this

follow 1w road safety stanc

& not as

amounts 1o saying that the fife of an Indian

Samerican or ¢

ierman.
6

6500



(b) Let A= {3, 4, 5} and B = {4, 12, 15}. Find R

where R is the relation “x divides y* from a set A RO NO. ceccenrecscsnnessanrsscass | Total Pages : 04
to set B. Also find R\, 4 : BSIT/D-16 12600
Unit v MATHEMATICS
ni ) . .
. Mathematical Foundation for Information
(Compulsory Question)
Technology-1
9. (a) IfA= {(a, b), c}, find the power set P(A). 2 BSIT-102
(b) Find eigen values of : . 2 Time : Three Hours] ‘ [Maximum Marks : 40
1.2 -t . , . -
01 2 Note : Attempt Five questions in ali, selecting one question
00 1 from each Unit. Q. No. 9 is compulsory. All questions
‘ carry equal marks.
(c) Find the rank of : - ; 2
UnitI
0 01 ‘ _ _
0 2 0 1. (a) Find the rank of the matrix : 4
o if 12 -1 3
(d) Solve : ,_ | 2 A=|-2 -4 4 -7
_ v 1 2 1 2
Ly _ Y -0 ) .
o

reducing it to normal form.

(b) Find the characteristic roots and spectrum of matrix :

(s - 2]
|
M

A=

6 T Al

2 ‘

il




2. (a) Prove that : 4

satisfies its characteristic equation.

(b) Diagonalize : 4
1 -2 4
A={-2 2 0
4 0 -7
Unit I1

3. (a) Provethat y=Acosx+ Bsinxisa solution of

the differential equation : 4
2
mlw\ +y=0
dx
(b) Solve the differential equation : 4
2_dy o
x—-y) =—a
(x-y) o
4. (a) Solve (x* + y?)dx — 2xydy = 0. 4

(h) To find the necessary and sufficient conditions that

the equations Mdx + Ndy = 0 may be exact. 4

L-12600 2

Unit 111
5. (a) Solve the differential equation : 4
&’ "
Iw.w+v\uw+m Y1 5¢%
dx
(b) Solve the differential equation 4
2
5 1
xwmlwwlmv\vxfﬂi
dx X
6. (a) Prove that 4" — 3n - 1is a multiple of a for all
n e N. 4
(b) Prove that : 4
(A-Byu (B -A)=(AuB)-(AnB)
Unit IV
7. (a) Prove the the relation “is congruent to” on the set
of all triangles in a plane is an equivalence relation.
4
(b) Let f : R — R be a function defined as
f(x) = 115x + 49, x « R. Show that f is on-to. 4
8. (a) A survey shows that 63% of Indians like oranges
whereas 76% like apples. If x% of Indians like both
oranges and apples, find the value of x. 4
(3-20/18)-12600 3 P.T.O.
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ROII NO. cocversesaresansosarsnses

BSIT/D-16
PHYSICS-I
BSIT-103
(EM Theory)

Time ; Three Hours] [Maximum Kﬁwm - 40

Note : Attempt Five questions in all, selecting at least one

question from each Unit. All questions carry equal

marks.

(Compulsory Question)

1. (a) What do you mean by displacement current 7
‘ (b) Define intrinsic impedance of medium.
(c) - What is ground wave propagation ?
(d) What are resonant antennas ?

ot

Unitl

ot

9. What is Gauss divergence theorem ? Drive matiienatica

expression of the samne. : o %
3. Give basic idea of em waves ard vrite Marwells soLAEM
in differential and e ral forms b
(3-07/7) 112601 , _ S e

Unit I1

Drive an expression for plane wave equation in conducting

Medium. : 8

' (a) What is Lorentz Gauge conditions ? 4

(b) Describe Skin Effect. 4
Unit ITI

Explain propagation of EM, waves in atmosphere. 8

What is remote sensing and write its applications. 8
Unit IV

(a) Explain radiation mechanism of antenna. 4

(b)  Define Antenna Gain. : 4

g, What do you mean by Transmission lines ?. Write its

sl

[2=)

equivalent circuit and define characteristics impedance.
8

600
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Roll No. ...coivierieccncreaniane Total Pages : 03

BSIT/D-16 12602

DIGITAL ELECTRONICS-I
BSIT-104

Time : Three Hours] v [Maximum Marks : 40

Note : Attempt any Five questions. Q. No. 1 is compulsory.
All questions carry equal marks. v

(Compulsory Question)

1. (a) What is Grey Code ? Give the advantages of grey

code over binary code. 2
(b) Design AND gate and OR gate using NAND gates
and NOR gates. : 2
(c) Write the uses of multipexer. 2
(d) Write a short note on race-around condition in J-K
flip-flop. - 2

Unit T

2. (a) Converts a grey code 11011011 into binary. 1
(b) Convert the following : 6
() Ahm.mfo = C&N = Cbm = ANVS

(1) (b = 00 - N, (7,



(c)

(b)

(b)
()

P-12602

Perform the subtraction using 2’s complementary
arithmetic : 1
(23);9 — (16)},

Convert the binary number 10101001 into grey code.

1
Convert the foilowing :
(1 (B8AB);;=(X),=( )g=( ) 6
(i) (1010L.111), = X);o = (X))s = X6
Muhiply (11011), with (1111),. 1
Unit IT

Draw the symbol and truth table of XOR gate. 2

Explain De-Mrgan’s law in brief. 2
Simplify the following four various K-map and make
the circuit diagram using NAND gates : 4
D> 0,2,4,68+) 1,513,115
ABCD )

Simphify the logic equation using Boolean algebra :
2

Z =(ABC+ABC+ABC+ABC)(A +B)
Obtain the minimal SOP expression using K-map
and make the circuit diagram using NAND gates
J(ABCD)=30,1,3,6,8,10 +3 14,15 4

2

(b)

(b)

(b)

(b)

(b)

(3-07/9) 1L.-12602

Design XNOR gate using NAND gates. 2

Unit I

Design a digital comperator to compare two 2-bit
long binary numbers. 4
Design an even parity bit generation for excess-3
code. 4

Design binary to BCD code converter using NAND
gates. _ 5
What is a decodes ? Write the applications of

decoders.

Unit 1V

Degin and explain master-slave J-K flip-flop using

NAND gates. Also discuss its asynchronous

behaviour. 6
Write the applications of flip-flops. 2
Discuss and design D-flip-flop. 4

How J-K flip-flop can be converted into T

flip-flop ?  Explain

the  synchronous  and

asynchronous behaviour of T flip-flop. 4

i

60
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BSIT/D-16 12603
ELECTRONIC COMMUNICATION-I
BSIT-105
Time : Three Hours] [Maximum Marks : 40

Note : Attempt Five questions in all, selecting one question
from each Unit. Q. No. 1 is compulsory. All questions

carry equal marks.

1. (a) What is compounding and why is it required ?
(b) Why high carrier frequencies are used for
transmission ?
(¢) Why quantizing noise effects small amplitude mmm:&m
in a PCM system far more than large signals ?
(d) How does noise affect channel capacity ? 2 each

Unit I

2. (a) The rms value of a carrier voltage is 150 volts.
Compute its rms value when it has been amplitude
modulated by a sinusoidal audio <o=mm_o to a depth :
(i) 20% : 5
(i) 40%

(3 How FM s advantages ovey AT 3

CLoam g
(4.Q7 00 i



3. In an FM system, the frequency deviation is 5 kHz when

the audio modulating frequency is 500 Hz and the audio

modulating voltage is 2V. Compute modulation index.

Also compute the frequency deviation and the modulation

index if AF voltage is increased to 8V while the

modulation frequency is reduced to 200 Hz. 8
Unit II
4. (ay For a low pass signal with f, = 20 kHz, what
should be the minimum sampling frequency ? 3
(b) What is pulse modulation ? Discuss PAM in detail.
5
5. (a) What is meant by quantization errors ? Explain its
types. 4
(b) Write a short note on Natural sampling and explain
the importance of large guard time. 4
Unit II1
6. {(a) Compare delta modulation with PCM and explain
the term slope overloading. How can slope
overloading be reduced ? 5
(b) Draw the block diagram of PCM transmitter and

HLI H, Ngu

explain its working. 3

(b)

(b)

(b)

State the advantages and applications of pulse code
modulation. 3
What do you understand by companding ? Why is
it preferred to- quantizing with tapered steps ? Justify
your answer with the help of typical companding

curves. 5

Unit IV

What factors. are necessitated while designing a
communication system 7 Explain. 4
How an echo suppressor may interfere with data
transmission ? List the steps for the preventica oi

the interference. 4

What is Crosstalk ? State the steps to reduce the
crosstalk in a communication system. 4
An analog signal carries eight bits in each signal
element. If 5000 mmm:& elements are sent per second,

find the baud rate and bit rate. 4

(3-07/1NL-12603 3 660




ROII NO. coccrrccnnnrensesrerannes Totai Pages : 03

BSIT/D-16 12604
COMPUTER FUNDAMENTALS-]
SIT-106
Time : Three Hours] [Maximum Marks : 40

Note : Attempt Five questions in all, selecting one question
from each Unit. Q. No. 1 is compulsory. All questions

carry equal marks.

1. Attempt all questions : . 4x2
(a) Give the name of first supercomputer.
(b) What is data mREin.m ? Name some secondary
storage media used for data archiving.
(c) What is community-supported sofiware ?

(d) What information is available on the Taskbar ?
Unit I

2. What is a computer ? Give the block diagram of

computer ? Give its charactenstics.’ 8

3. Write short notes on the following : 3
(a) Input devices
(b) Files

(c¢) Mainframe Computers.

G-OTIDL-12604 | | P.L.O.



Unit I1

4. Write short notes on the following : 8
{a) Magnetic Bubble Memory
(b) Charged Couple Devices.
5. (a) In the context of magnetic disk storage, define the
following term and write relationship among then
(if any) : 6
Track
Cylinder
Sector
Disk Address.
(b} What will be storage capacity of a double-sided

disk with 400 tracks, 16 sectors per track, and 512

bytes per sector 7 2

Unit 111

6. What are the different ways of acquiring software ? List

their advantages and limitations. 8
7. {a) Are all public-domain software “freewave” ?

1-12604

Explain. 3

Why is firmwave gaining popularity ? 3

Distinguish between application software and system

software. 2
2

Unit IV
8. What is Multimedia ? Explaint its components and give
its Applications. 8
9. (a) What do you mean by Indent in MS-Word ?
Distinguish between Positive and Negative Indent.
4
(b) How can you correct your document from Misspell ?
2
(c) How you can create a macro and use it ? -2
(3-07/13)L-12604 3 600



